ITS BORE

ITS BORE

Member IMC Group
(Y| "l 447
L4 1| []



CONTENTS

LL
oC
O
m
N
=

(7B ISCAR



ITS50RE

The ITS BORE System

SKA/SKB
SKA-FC

pages 455-456

CATI

BT/BTB

BT-FC Pages 459-460

Extensions and Reducers

EX Page 464

RE AVI Page 465
o
CHR Page 466

ISOM/ISO Page 460

MTT/MTD Page 463

ST

DIN2079

USER GUIDE

Toolholders
EMH Page 466

TP Page 469
TCS/TCC Page 469
see ISCAR MILLING

obP LINES catalog

= = 4‘, _|
T
I (h
bH (‘t T ‘ ‘ {

<> == -
AMT Page 470
BLANK Page 470

Member IMC Group

LLJ
o
O
m
n
=




L
o
O
m
n
=

ITS50nRE

The ITS BORE System

USER GUIDE

Rough Boring Heads

BHR MB 16, 20, 25, 32, 40, 50, 63, 80

Fine Boring Heads (400 Minch)

(2.709-7.874" ) Page 472
IHPR IHSRBW CRLNHT

biny

IHBR IHSR BW{ CR SOMJ

BHEI MB 14, 16, 20, 25, 32, 40

(©.571-2.598" ) Page 489

]

\
0.5
0.01

Non0.002,

E
{©LOocH]

o
i
¥
ki

|

TCH AL 200, 300, 400, 500, 600, 700, 800

(@7.874-47.323" ) Page 476

BT-FM
IHSR BW

12
TCHH EX 100/300
Extension slides

IHPR  [IHBR

IHWF E IHFF (E) IHRF IHRF CH IHRF BW
BHEI MB-H 32, 50

<o)
(©.098-.866") Page 494
J_—v= PICCO AGE BH

BHEI MB 50, 63, 80

Rough & Fine Boring Heads

BHCI MB 25, 32, 40, 50, 63, 80

(@1.102-4.724" ) Page 481

®liHsR c

IHRF C
IHFF C

(2.236-1.181")

SLEEVE — ] ___|[HAXF
i P e e

] / H
IHAXF ,

IHAXF-AVI

PICCO ACE BH
BHEH

pages 491-493
(21.102-2.205")

M|
I ‘
7]
7]

IHFF
IHFF

(21.575-3.543")

[]

(©2.126-4.527")
IHWF E IHFF (E)IHRF IHRF CH IHRF BW

(02.835-7.874")
Fg .
]

BHE 63

O 050
~i~ 0.01 @
Non. 0.002 @

<o)

>

LOCI

0|05
- [0.01
Nor0.002,

i

\/ Non. 0.002 @

BHEH
CcwW

IHFF
IHRF
IHRF BW

ISCAR




ITS50RE

The ITS BORE System

USER GUIDE

Fine Boring Heads (80 Minch)

BHFI MB 16, 20, 25, 32, 40

LLJ
o
O
m
n
=

BHFI MB 50, 63, 80

(©.709-2.480") Page 497

IHFF_ IHRFCH  IHRF BW

=t

l !
d
(2.098-.787") Page 495

BHFI MB 50-BL
SLEEVE

|
|HAXE... IHAXF-AVI

PICCO ACE BH

BHFI MB 50-50X60

(2.236-1.181") pages 497, 500

IHAXF
Y
IHAXF

a)|l By
BBH

THFF Bl

IHFF E A
IHRF

?
L

: PICCO ACE BH

(21.102-2.126")

BH NUT

s [ el )
CW

IHFF “ @ ﬂ
IHRF IHRF

IHRF CH

IHRF BW

(©2.126-4.252")

(23.032-19.685") Pages 501-504
IHFF  IHRF  IHRF CH IHRF BW

i

IHFF

i

%@

BHFH

@
©
T

IHAXF

E; [

J";f— PICCO ACE BH
(1 /%
ADBH

TCH AL 200, 300, 400, 500, 600, 700, 800
(07.874-47.323") Page 511

IHFF50
BT-FM
% j ﬁ IHRF50

BHF/D L200
IHRF-BW

HE 8o

i

*

CwW200

BHD 32, 40, 50, 63, 80

Pages 484-488
~—L—= IHFF
IHRF CH
¢L5L1$ IHRF IHRF BW
iy
) LYTED.
SS ji—-fre=t3e
| B
IHWF E
= Fd2 BBH
}
E |
HE[ %%7 IHAXE EIHFF

Member IMC Group

| Tl 451




ITS50RE USER GUIDE

ITS BORE Boring Heads Selection Guide

L
o
O
m
n
=

MB 14 16 20 25 32 40 50 63 80

Size
BHR BHR BHR MB25- |BHR MB32-32 |BHR MB40- |BHR MB50-50 @2.677- |BHR MB63- |BHR MB80-80
MB16-16  [MB20-20  |25@1.102- |(1.398-1.969 |40 01.969- |3.543 BHR MB50-63 |63 03.543- |(04.724-7.874 Roughin
0.709-.866 |.866-1.102 |1.496 2,677 ?3.543-4.724 4.724 ghing

4 408

Rough

Page 472
BHCI MB25- | BHCI MB32-32 |BHCI MB40-|BHCI MB50-50 BHCI MB63- |BHCI MB80-80
25 01.102- |@1.417-1.811 |40 01.811- |02.362-2.953 63 02.953- |@3.740-4.724
1.47 2.362 3.740

TCH AL300

030702

Rough + Finish

IHSR 160-800

0

(=)

Page 481 Page 476

ISCAR




ITSB0RE USER GUIDE

LLJ
o
O
m
n
=

MB 14 16 20 25 32 40 50 63 80
Size
BHEI BHEI BHEI BHEI MB25- | BHEI MB32-32 |BHEI MB40- |BHEI MB50-50 BHEI BHEI MB80-80 ©.236-7.874
MB14-14 |MB16-16 |MB20-20 |25 @1.102- |(1.378-2.087 |40 01.890- |2.236-4.331 MB63-63
0.571-700 |0.709-945 |0.866-1.181 [1.575 2.598 0.236-4.921 TCH AL200 7.674-23.701
= _ TCH AL300 211.811-27.638
S é é TCH AL400 015.748-31.575
TCH AL500 019.685-35.512
2 o TCH AL600 ©23.622-39.449
o 000 TCH AL700 27.559-43.386
g TCH AL800 ©/31.496-47.323
T Page 489 Finishing
BHEI MB32- BHEI MB50-50...H BHD 50 L200
32..H ?.236-.866 07.874-47.323
.098-.472
=il
Q) S il
= Page 494 Page 494 Page 510
BHFI BHFI BHFI MB25- | BHFI MB32-32 |BHFI MB40- |BHFI MB50-50 0.236-  |BHFI BHFI BHFI MB80-
MB16-16  |MB20-20 |25 21.102- |(1.398-1.968 |40 J1.890- |4.252 BHFI MB50-63 MB63-63 MB80-80 125 01.417-
= 2.709-.906 |0.866-1.142 |1.496 2480 .098-6.299 BHFI 2.098-6.299 |2.098-8.661 [19.685
O MB50-80 ©.098-8.661
- g é %
L2
.S By
('S =,
Q 8 BHFI L8.000
2 28.000-47.323
m Page 497 Page 501 Page 510
BHFI MB50-50...
BL 2.236-.866
% S
m Page 495
BHD MB32-32- |BHD MB40- |BHD MB50-50X60 BHD MB63- |BHD MBB80-80X104
83 01.378-2.008|40-90 2.098-4.331 63X89 0.236-7.874
21.889- 0.236-4.921
o 2519
g
3
. Page 484 Page 511

Member IMC Group
(| I
L 4 111]




WA ITS50RE USER GUIDE
8 MB Connection
CD ITSBORE is a modular toolholder system for boring, -
|: milling, drilling and tapping. This rigid, high-precision = S Allen Tightening | Maximum
system is manufactured in one of the world's most o dy | m Key Torque Driving
advanced production facilities. The system is designed 2 (mm) (Ibfxft) Torque
with extreme flexibility and simplicity, making it 2 A (Ibfxft)
suitable for machine tools, machining centers and
flexible manufacturing systems. It is recommended 551 .39 2.5 1.5-1.8 30
for machining strict tolerances with a high degree 63| 39 25 1.5-1.8 30
of surface finish. Its cylindrical-conical coupling and
radial-expanding pin ensure maximum rigidity and 79 | 51 s 3.0-33 52
concentricity in boring and milling. The system has .98 | .63 3 4.8-5.5 88
an internal coolant supply in all components. 196| 79 4 5259 148
1.58| .98 5 12-13 295
1.9711.26 6 22-26 516
2.4811.65 8 52-59 1180
3.15|1.65 8 52-59 1180
4.3312.99 14 148-162 4650

ISCAR




ITS50RE

Fig. 2 r

I B
- — -
Ef====== 4 '

CATI-MB

MB Modular Boring System
Connections with Caterpillar
AD Form Tapered Shanks

T
S
©
=== <
e o]
O

(@Cutting edge position

s oows  wn 5w ons  r B

LLJ
A
O
m
n
=

CATI 40 MB50 40 50.0000 2.600 1.850 = 5/8-11 1. 243 HW 6.0
CATI 40 MB50X4.724 40 50.0000 4724 3.976 1970 5/8-11 2. 3.75 HW 6.0
CATI 40 MB63 40 63.0000 3.937 = = 5/8-11 1. 419 HW 8.0
CATI 45 MB50 45 50.0000 1.890 1.140 = 3/4-10 1. 3.75 HW 6.0
CATI 50 MB50 50 50.0000 1890 1142 - 18 1. 5.29 HW 6.0
CATI 50 MB50X4.724 50 50.0000 4.724 3.976 2.756 1-8 2. 9.06 HW 6.0
CATI 50 MB63 50 63.0000 2.205 1453 - 18 1. 6.39 HW 8.0
CATI 50 MB63X5.906 50 £3.0000 5.906 5.157 2,756 18 2. 11.08 HW 8.0
CATI 50 MB80 50 80.0000 2441 1.693 = 1-8 1. 7.06 HW 8.0
CATI 50 MB80X7.087 50 80.0000 7.087 6.339 3.150 1-8 2. 16.21 HW 8.0
. . . " Assembly

Fine Boring Head Diameter Range .10-35.40 Reference

0 5 1 15 2 25 3 35 4 45 5 55 6 65 7 75 8 20 Page

BHFI MB50-32X60 BL a7 | 495

BHFI MB50-50X68 BL 24-87 495

BHFI MB16-16x34 497

BHFI MB20-20x40 1. 497

BHFI MB25-25x50 110150 497

BHFI MB32-32x63 140-1.97 497
BHFI MB40-40x80 1.89-2.48 497

BHFI MB50-50x60 501

BHFI MB50-63x87 501

BHFI MB63-63x87 501

BHFI MB50-80x94 501

BHFI MB80-80x94 501

BHFI MB80-125x114 142-19.69 501

6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42

TCH AL200 et || 511

TCH AL300 11.81-15.75 511

TCH AL400 ] 511

TCH AL500 ! 511

TCH AL600 2360275 511

TCH AL700 27.56-31.50 511

TCH AL800 31.,60-35.40 511

Note: TCH AL should be used with BHFI L8.000 or with BHD 50 L200 for fine boring applications.

BHFI Fine Boring Heads

High precision machining to a close tolerance with high surface quality.
These heads enable a fine diametric adjustment as small as .00008” with a direct reading.

Member IMC Group

(T [Tall 455



ITS50RE

CATI-MB-AB

MB Modular Boring System
Connections with Caterpillar
ADB Tapered Shanks

L
o
O
m
n
=

s o 1 wn  w o g om B

CATI 40 MB50AB 40 MB50 1.850 2,600 - 5/8-11 1. 0 2.71 HW 6.0
CATI 50 MB50AB 50 MB50 1.142 1.890 = 1-8 1. 0 6.66 HW 6.0

CATI 50 MB80X7.087AB 50 MBS0 6.339 7.087 3.150 1-8 2. 0 17.00 HW 8.0

* Note: Holders with holes in the flange also feature central coolant holes (type ADB). Remove the sealing cap screws in the flange for type B coolant option.
() 1 - Slot for data chip, O - Without slot for data chip

Sealing Cap
Screw

ITS50RE LPR— ﬁ
CATI-FC-MB

MB Modular Boring System
Connections with Caterpillar
ADB Form Face Contact
Tapered Shanks

) 202
Fig. 1 \/ L/ @Cutting edge position

ss csl BD LB LPR CRKS Fig. cDIf o /

CATI 40 FC MB50 A/B 40 MB50 > 1.850 2.600 5/8-11 1 0 243 HW 6.0
CATI 40 FC MB50X4.724 A/B 40 MB50 1.970 3.976 4.724 5/8-11 2. 0 5.95 HW 6.0
CATI 40 FC MB63 A/B 40 MB63 = - 3.937 5/8-11 1. 0 419 HW 8.0
CATI 50 FC MB110X5.90 A/B 50 MB110 4.330 5.160 5.906 1-8 2. 0 9.92 HW 10.0
CATI 50 FC MB50A/B 50 MB50 - 1.140 1.890 1-8 1. 0 3.75 HW 6.0
CATI 50 FC MB50X4.724A/B 50 MB50 2.760 3.976 4.724 1-8 2. 0 6.39 HW 6.0
CATI 50 FC MB63A/B 50 MB63 o 1.460 2.200 1-8 1. 0 4.41 HW 8.0
CATI 50 FC MB63X5.906A/B 50 MB63 2.760 5.157 5.906 1-8 2. 0 7.50 HW 8.0
CATI 50 FC MB80A/B 50 MBS0 - 1.690 2.440 1-8 1. 0 4.41 HW 8.0

() 1 - Slot for data chip, O - Without slot for data chip

ISCAR




ITS50nRE &’i
SKA-MB
MB Modular Connection System

with DIN69871 Form AD/ADB
/1S07388/1 Taper Shanks

4
DCONWS ED

1

(@Cutting edge position

s oows  wn s w  ow B

LLJ
o
O
m
n
=

SKA 30-MB32 30 1.2508 1.181 413 = M12 .88 HW 4.0
SKA 30-MB50 30 1.9685 2.362 1.614 > M12 1.47 HW 6.0
SKA 40-MB40 40 1.5748 1.772 1.024 = M16 2.07 HW 5.0
SKA 40-MB40X120 ADB 40 1.5748 4.724 3.976 1.762 M16 3.75 HW 5.0
SKA 40-MB50 40 1.9685 1.890 1.142 = M16 2.19 HW 6.0
SKA 40-MB50X120 ADB 40 1.9685 4.724 3976 > M16 4.50 HW 6.0
SKA 40-MB63 40 24803 3.150 2.402 = M16 3.34 HW 8.0
SKA 45-MB50 45 1.9685 1.890 1.142 ° M20 391 HW 6.0
SKA 50-MB110X150 50 4.3307 5.906 5.167 = M24 18.67 HW 10.0
SKA 50-MB50 50 1.9685 1.890 1.142 - M24 6.22 HW 6.0
SKA 50-MB50X120 ADB 50 1.9685 4.724 3976 2.362 M24 8.88 HW 6.0
SKA 50-MB63 50 2.4803 2.205 1.457 > M24 6.50 HW 8.0
SKA 50-MB63X150 ADB 50 24803 5.906 5.167 2.756 M24 6.21 HW 8.0
SKA 50-MB80 50 3.1496 2.441 1.693 ° M24 7.74 HW 8.0
SKA 50-MB80X180 ADB 50 3.1496 7.087 6.339 = M24 17.42 HW 8.0
SKA 60-MB110X100 60 4.3307 3.937 3.189 - M30 23.15 HW 10.0
SKA 60-MB110X200 60 4.3307 7.874 7.126 = M30 39.69 HW 10.0
SKA 60 MB63X60 60 2.4803 2.362 1.614 2.795 M30 20.88 HW 8.0
SKA 60-MB80X65 60 3.1496 2.559 1.811 = M30 22.89 HW 8.0

o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability e The coolant passages of holders with A/B suffix are plugged
with screws so they can be used either as SKA or SKB (through coolant).

ITSB0RE
SKA-FC-MB
MB Modular Boring Connection

System with DIN 69871 Face
Contact ADB Tapered Shanks

by

DCONWS CRKS

'

Fig. 1
ss DCONWS LPR BD LB CRKS Fig. ﬁ /
SKA 40 FC MB50 ADB 40 1.9685 1.890 = 1.142 M16 1. 1.98 HW 6.0
SKA 40 FC MB50X120 ADB 40 1.9685 4.724 = 3.976 M16 2 3.75 HW 6.0
SKA 40 FC MB63 ADB 40 2.4803 3.150 - M16 1 3.31 HW 8.0
SKA 50 FC MB50 ADB 50 1.9685 1.890 5 1.142 M24 1 5.95 HW 6.0
SKA 50 FC MB50X120 ADB 50 1.9685 4.724 2.362 3.976 M24 2 7.72 HW 6.0
SKA 50 FC MB63 ADB 50 24803 2.205 - 1.457 M24 1 6.17 HW 8.0
SKA 50 FC MB63X150 ADB 50 2.4803 5.906 2972 5.157 M24 2 11.03 HW 8.0
SKA 50 FC MB80 ADB 50 3.1496 2.441 = 1.693 M24 1 7.50 HW 8.0
SKA 50 FC MB80X180 ADE 50 3.1496 7.087 = 6.339 M24 2 15.21 HW 8.0

Member IMC Group

(T [Tall 457



L
o
O
m
n
=

ITSB0RE
SKB-MB
MB Modular Connection System

with DIN69871 Form B (coolant
through flange) Taper Shanks

i !
i DCONWS

J»\ LB =
LPR =

i

y

@Cutting edge position

Designation

e

4

SS DCONWS LB LPR CRKS
SKB 40-MB50 40 1.9685 1.142 1.890 M16 2.30 HW 6.0
SKB 40-MB63 40 24803 2402 3.150 M16 3.44 HW 8.0
SKB 50-MB50 50 1.9685 1.142 1.890 M24 6.41 HW 6.0
SKB 50-MB63 50 2.4803 1.457 2.205 M24 6.77 HW 8.0
SKB 50-MB80 50 3.1496 1.693 2.441 M24 7.94 HW 8.0
¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
ITS50RE o F
HSK A-MB 3
MB Modular Connection I
System with DIN 69893 . DCONWS BD
HSK A Taper Shanks | ¢

@Cutting edge position

&

>

4

LPR BD
HSK A40 MB32 1.575 1.2508 1.102 1.890 = Al COOLING TUBE HSK A40  WRENCH COOL TUBE HSK40* HW 4.0
HSK A50 MB50 1.968 1.9685 ° 2.598 1.51 COOLING TUBE HSK A50  WRENCH COOL TUBE HSK50* HW 6.0
HSK A63 MB40 2.480 1.5748 1.339 2.362 = 2.02 COOLING TUBE HSK A3~ WRENCH COOL TUBE HSK63* HW 5.0
HSK A63 MB40X120 2.480 1.5748 3.701 4.724 1.811 3.55 COOLING TUBE HSK A63  WRENCH COOL TUBE HSK63* HW 5.0
HSK A63 MB50 2.480 1.9685 1.575 2.598 = 2.30 COOLING TUBE HSK A3 WRENCH COOL TUBE HSK63* HW 6.0
HSK A63 MB50X120 2.480 1.9685 3.701 4.724 2.32 COOLING TUBE HSK A3 WRENCH COOL TUBE HSK63* HW 6.0
HSK A63 MB63 2.480 2.4803 - 2.953 = 2.54 COOLING TUBE HSK A63  WRENCH COOL TUBE HSK63* HW 8.0
HSK A80 MB50 3.150 1.9685 1.732 2.756 3.54 COOLING TUBE HSK A80  WRENCH COOL TUBE HSK80* HW 6.0
HSK A80 MB63 3.150 2.4803 2.126 3.160 = 3.31 COOLING TUBE HSKA80  WRENCH COOL TUBE HSK80* HW 8.0
HSK A80 MB80 3.150 3.1496 = 3.386 5.59 COOLING TUBEHSK A80  WRENCH COOL TUBE HSK80* HW 8.0
HSK A100 MB50 3.937 1.9685 1.693 2.835 = 5.69 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 6.0
HSK A100 MB50X120 3.937 1.9685 3.583 4.724 2.362 2.32 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 6.0
HSK A100 MB63 3.937 2.4803 2.087 3.228 = 6.31 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 8.0
HSK A100 MB63X150 3.937 2.4803 4.764 5.906 2.756 1040  COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 8.0
HSK A100 MB80 3.937 3.1496 2.323 3.465 = 7.94 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 8.0
HSK A100 MB80X180 3.937 3.1496 5.945 7.087 14.33  COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 8.0

¢ A cooling tube must be used with all coolant through HSK spindles e Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying

capability.
* Optional, to be ordered separately

ITS50RE

HSK E-MB
MB Modular Connection System
with DIN 69893 E Taper Shanks

T DCONWS

|

=

@Cutting edge position

Designation

=

4

DCONMS DCONWS LB LPR
1575 1.2598 866 1,654 66 HW 4.0
HSK E50 MB50 1.968 1.9685 - 2.598 1.57 HW 6.0
2.480 1.9685 1575 2.598 4.12 HW 6.0

¢ A cooling tube must be used with all coolant through HSK spindles e Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying

capability.

ISCAR




ITS50nRE LR

HSK F-MB
MB Modular Connection System o N S et T
with DIN 69893 F Taper Shank Sl [

H - DCONWS

y

e

@Cutting edge position

ocomss_oconws - o = (

HSK F 63 MB50 2.480 1.9685 1.535 2.559 2.21 HW 6.0

¢ A cooling tube must be used with all coolant through HSK spindles e Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying

capability.

ITS50nRE

C#-MB

MB Modular Boring Connection

System with CAMFIX

Exchangeable Shanks

CAMFIX

DCONMS

DCONWS DCO

NMS

Fig 2

y

Pl

DCONWS BD

by

&

D

LLJ
o
O
m
n
=

LB BD Fig.
C4 MB32X42 1.575 1.2598 1.654 .866 - 1. .66 HW 4.0  COOLING TUBE C4* WRENCH COOL TUBE C4*
C4 MB40X45 1.575 1.5748 1.772 - 1. .88 HW 5.0  COOLING TUBE C4* WRENCH COOL TUBE C4*
C5 MB50X55 1.968 1.9685 2.165 - - 1. 1.58 HW 6.0  COOLING TUBE C5* WRENCH COOL TUBE C5*
C6 MB40X50 2.480 1.5748 1.968 1.102 - 1. 1.98 HW 5.0  COOLING TUBE C6* WRENCH COOL TUBE C6*
C6 MB40X120 2.480 1.5748 4,724 3.858 1.732 2. 3.31 HW 5.0  COOLING TUBE C6* WRENCH COOL TUBE C6*
C6 MB50X55 2.480 1.9685 2.165 1.299 1.968 2. 1.76 HW 6.0  COOLING TUBE C6* WRENCH COOL TUBE C6*
C6 MB50X67 2.480 1.9685 2.638 1.772 - 1. 2.43 HW 6.0  COOLING TUBE C6* WRENCH COOL TUBE C6*
C6 MB50X120 2.480 1.9685 4,724 3.858 2.126 2. 419 HW 6.0  COOLING TUBE C6* WRENCH COOL TUBE C6*
C6 MB63X77 2.480 2.4803 3.031 - - 1. 3.41 HW 8.0 COOLING TUBE C6* WRENCH COOL TUBE C6*
C8 MB50X60 3.150 1.9685 2.362 1.181 - 1. 4,38 HW 6.0  COOLING TUBE C8* WRENCH COOL TUBE C8*
C8 MB50X120 3.150 1.9685 4,724 3.543 2.126 2. 6.17 HW 6.0 COOLING TUBE C8* WRENCH COOL TUBE C8*
C8 MB63X70 3.150 2.4803 2.756 1.575 - 1. 4,76 HW 8.0  COOLING TUBE C8* WRENCH COOL TUBE C8*
C8 MB63X150 3.150 2.4803 5.906 4,724 2.638 2. 8.82 HW 8.0 COOLING TUBE C8* WRENCH COOL TUBE C8*
C8 MB80X75 3.150 3.1496 2.953 - - 1. 5.73 HW 8.0  COOLING TUBE C8* WRENCH COOL TUBE C8*
C8 MB80X120 3.150 3.1496 4,724 - - 1. 9.48 HW 8.0 COOLING TUBE C8* WRENCH COOL TUBE C8*

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
* Optional, to be ordered separately

ITS50RE r
BT-MB

MB Modular Connection i

Systern with BT MAS-403 4

FORM AD/ADB Taper Shanks N DCONWS  BD

by

@Cutting edge position

o
Lbs) /

P -

DCONWS LB LPR BD CRKS
BT30 MB32 30 1.2598 47 1.260 M12 .84 HW 4.0
BT30 MB50 30 1.9685 1.520 2.362 M12 1.54 HW 6.0
BT40 MB40 40 1.6748 709 1.772 ° M16 2.18 HW 5.0
BT40 MB40X120 ADB 40 1.5748 3.661 4724 1.752 M16 393 HW 5.0
BT40 MB50 40 1.9685 827 1.890 - M16 2.21 HW 6.0
BT40 MB50X120 ADB 40 1.9685 3.661 4724 M16 4.58 HW 6.0
BT40 MB63 40 2.4803 1.635 2.508 M16 2.98 HW 8.0
BT45 MB50 45 1.9685 1.142 2441 M20 512 HW 6.0
BT50 MB50 50 1.9685 1.102 2598 ° M24 8.33 HW 6.0
BT50 MB50X120 ADB 50 1.9685 3.228 4724 2.362 M24 10.23 HW 6.0
BT50 MB63 50 2.4803 1.457 2.953 - M24 8.78 HW 8.0
BT50 MB63X150 ADB 50 2.4803 4.409 5.906 2.756 M24 12.90 HW 8.0
BT50 MB80 50 3.1496 1.457 2.953 M24 9.48 HW 8.0
BT50 MB80X180 ADB 50 3.1496 5.591 7.087 M24 18.06 HW 8.0
BT50 MB110X140 50 4.3307 4016 5.512 M24 14.99 HW 10.0
BT60 MB110X110 60 4.3307 2.480 4.331 M30 25.36 HW 10.0
BT60 MB110X200 60 4.3307 5.984 7.874 M30 39.91 HW 10.0

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

Member IMC Group
(| I
L 4 111]




ITS5CRE LPR — =

BT-FC-MB \ = e
MB Modular Boring System g |
with BT MAS-403 Face Contact
ADB Tapered Shanks

"
'
0

L
o
O
m
n
=

BT40 FC MB50 40 1.9685 1.890 = 827 1. 1.98 HW 6.0
BT40 FC MB50X120 ADB 40 1.9685 4.724 = 3.661 2. 419 HW 5.0
BT40 FC MB63 40 2.4803 2.598 = = 1. 2.65 HW 8.0
BT50 FC MB50 50 1.9685 2598 = 1.102 1. 7.28 HW 6.0
BT50 FC MB50X120 ADB 50 1.9685 4724 2.362 3.228 2. 9.26 HW 6.0
BT50 FC MB63 50 2.4803 2.953 = 1.457 1. 8.16 HW 8.0
BT50 FC MB63X150 ADB 50 2.4808 5.906 2.756 4.409 2 12.79 HW 8.0
BT50 FC MB80 50 3.1496 2.953 ° 1.457 1. 8.82 HW 8.0
BT50 FC MB80X180 ADB 50 3.1496 7.087 = 5.591 2. 16.54 HW 8.0

ITSBGRE
BTB-MB

¥

MB Modular Connection
System with BT MAS-403
Type B Taper Shanks

DCONWS

@Cutting edge position

s oows o s B (

BTB40 MB50 40 1.9685 827 1.890 M16 2.12 HW 6.0
BTB40 MB63 40 2.4803 = 2.598 M16 2.95 HW 8.0
BTB50 MB50X66 50 1.9685 1.102 2.598 M24 8.57 HW 6.0
BTB50 MB63X75 50 2.4803 1.457 2.953 M24 8.82 HW 8.0
BTB50 MB80 50 3.1496 1.457 2.953 M24 9.48 HW 8.0

¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITSBGRE
ISO-MB 45'

MB Modular Connection System
with ISO 297 Taper Shanks

r DCONWS

@Cutting edge position

s oows o s B (

1ISO 40-MB50 40 1.9685 1.417 1.890 UNC 5/8"-11 2.28 HW 6.0
1ISO 40-MB63 40 2.4803 ° 2.362 UNC 5/8"-11 3.00 HW 8.0
1ISO 50-MB50 50 1.9685 1:299 1.890 UNC 1.0"-8 6.23 HW 6.0
1ISO 50-MB63 50 2.4803 1.614 2.206 UNC 1.0"-8 6.49 HW 8.0
1ISO 50-MB80 50 3.1496 1.772 2.362 UNC 1.0"-8 7.85 HW 8.0

¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ISCAR




ITS50RE

ST-MB
MB Modular Connection System
with Straight Cylindrical Shanks

i
DCO‘\IMS

(aCutting edge position

o
ST 1.00-MB32 1.000 1.2600 3.937 92
ST 1.25-MB50 1.250 1.9690 5512 2.51

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

LLJ
o
O
m
n
=

ITSB0nRE
ST-MB Straight Carbide Shank with MB Connection Assembly Options

ST5/8-1 1/4 MB16-MB32 Diameter Range: .71-1.97”

Rear Connection HSK ‘ Hydraulic Chuck HSK Rear Connection
HSK

DIN Bﬁ\‘K

BT BT

CAMFIX @) O CHAMFIX

0O 0 T

MAXIN Power Chuck

! ! ! ER Collet Chuck

\
Straight Carbide Shank

‘ . ST5/8-11/4
) | ST 16-32
BHR-MB 16-32 )
Rough Boring Head | BHFIMB 16-32
.71-1.97” Dia. Range ‘ . \ COMB-ER
> (( IHRF 16-32 |

IHFF 25-32 -'-
- —/@

BHFI-MB
Fine Boring Heads

IHSR 18-50 ] .71-1.97” Dia. Range
IHCR 28-50

IHPR 36-50 ( : \

ER Collet Chuck

Member IMC Group

(T [Tall 461



WD ITssonrs o
A8 sT-mB -
O MB Modular Connection System - I | % H sconws
m with Straight Cylindrical Shanks | v+ P————= saedl v N\ .// v [ Ut
l«— orx —]

Designation DCONMS DCONWS OAL OHX( CSP®@ Fig. ko] /

ST 16-MB16 16.00 16.00 100.00 66.0 1 1 0.15 HW 2.5
ST 20-MB20 20.00 20.00 125.00 85.0 1 1 0.27 HW 3.0
ST 25-MB32 25.00 32.00 100.00 35.0 0 2 0.41 HW 4.0
ST 32-MB50 32.00 50.00 140.00 60.0 0 2 042 HW 6.0
¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
) Maximum overhang
(2 0 - Without coolant supply, 1 - With coolant supply
ITS50RE 415'
e———— LF bl
ST-MB-E (eooemN) e
MB Modular Connection System h L
with Cylindrical Carbide Shanks DCONMS A ey -
i N Al |
oL DCONWS

cows _ooows o - e 8 (

ST5/8-MB16X4.33E 625 16.0000 4.331 5.669 3.940 63 HW 2.5
ST5/8-MB16X5.51E 625 16.0000 5512 6.850 4.920 6.62 HW 2.5
ST5/8-MB16X6.69E .625 16.0000 6.693 8.031 6.300 6.62 HW 2.5
ST3/4-MB20X5.31E .750 20.0000 5.315 6.890 4.920 1.08 HW 3.0
ST3/4-MB20X6.69E .750 20.0000 6.693 8.268 6.300 1.44 HW 3.0
ST3/4-MB20X8.27E .750 20.0000 8.268 9.843 7.870 6.62 HW 3.0
ST 1-MB25X6.29E 1.000 25.0000 6.299 8.268 6.300 222 HW 3.0
ST 1-MB25X8.07E 1.000 25.0000 8.071 10.039 7.870 2.93 HW 3.0
ST 1-MB25X10.04E 1.000 25.0000 10.039 12.008 9.840 3.73 HW 3.0
ST 11/4-MB32X7.67E 1.250 32.0000 7.677 10.157 7.870 4.20 HW 4.0
ST 11/4-MB32X9.84E 1.250 32.0000 9.843 12.323 9.840 5.47 HW 4.0
ST 11/4-MB32X12.40E 1.250 32.0000 12.402 14.882 12.600 747 HW 4.0
¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITS50nRE
ST-MB-E je— | F(assembly) ’ F
MB Modular Connection System I 7
with Cylindrical Carbide Shanks DG ONMS - ST oo g —
! N
OAL

Designation DCONMS DCONWS OAL LF L max & /

ST 16-MB16X110E 16.00 16.00 110.00 144.00 100.0 0.28 HW 2.5
ST 16-MB16X140E 16.00 16.00 140.00 174.00 125.0 0.17 HW 2.5
ST 16-MB16X170E 16.00 16.00 170.00 204.00 160.0 0.42 HW 2.5
ST 20-MB20X135E 20.00 20.00 136.00 175.00 125.0 0.40 HW 3.0
ST 20-MB20X170E 20.00 20.00 170.00 210.00 160.0 0.69 HW 3.0
ST 20-MB20X210E 20.00 20.00 210.00 250.00 200.0 0.40 HW 3.0
ST 25-MB25X160E 25.00 25.00 160.00 210.00 160.0 0.40 HW 3.0
ST 25-MB25X205E 25.00 25.00 205.00 255.00 200.0 1.28 HW 3.0
ST 25-MB25X255E 25.00 25.00 255.00 305.00 250.0 1.55 HW 3.0
ST 32-MB32X195E 32.00 32.00 195.00 258.00 200.0 1.96 HW 4.0
ST 32-MB32X250E 32.00 32.00 250.00 313.00 250.0 2.50 HW 4.0
ST 32-MB32X315E 32.00 32.00 315.00 378.00 320.0 3.30 HW 4.0

¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ISCAR




ITS50RE oy LL]

MTT-MB ‘ Tt s

MB Modular Connection f O

System with DIN 228/B 1806 e %,,7,57” fffff — DCONWS

Morse Taper Shanks CD
PR @Cutting edge position CIL)

& 4

MTT 5-MB63 MT5 2.4803 2.559 4.76 HW 8.0

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITS50RE r
MTD-MB
MB Modular Connection

System with DIN 228/A 220
Morse Taper Shanks

(a) .

DCONWS

@Cutting edge position

si Tte DCONWS LPR CRKS & /
MTD 4-MB50 MT4 1.9685 2.480 M16 2.05 HW 6.0
MTD 4-MB50 SIP MT4 1.9685 2.480 M14 217 HW 6.0

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITS50nRE THD LSOUS,_ 1

DIN2079-MB Tf

MB Modular Connection T I T

System with DIN 2079 Spindle BD_2 DCONMS (il pconws BD

Connecting Interface l Tt i

LB

LF DCONWS  LSCMS LB BD BD 2  DCONMS DBC THID é /
DIN2079 MB50 40 1.378 1.9685 394 827 3.543 4331 3.500 2.626 M12 4.31 HW 6.0
DIN2079 MB63 40 1.850 2.4808 394 1.220 3.543 4.331 3.500 2.626 M12 4.54 HW 8.0
DIN2079 MB63 50 1.772 2.4808 472 1.220 5.315 5.906 5.062 4.000 M16 10.14 HW 8.0
DIN2079 MB80 50 1.969 3.1496 472 1.47 5.315 5.906 5.062 4.000 M16 11.03 HW 8.0

e Standard connection plate that can be assembled easily on most CNC spindle machines with a DIN2079 interface. This connection plate enables the use of ITS BORE
components with the MB connection by using any standard adapter with four screws. It is affixed to the machine spindle.

Member IMC Group
(| I
L 4 111]




ITS50RE

LPR |
EX-MB ‘
Extensions for the MB Modular

Connection System

L
o
O
M
n
=

&

EX 14X25-MB14 551 984 5512 .09
EX 16X25-MB16 630 984 6299 12
EX 20X32-MB20 787 1.260 7874 19
EX 25X25-MB25 984 984 9842 .23
EX 25X40-MB25 984 1.575 9842 .35
EX 32X32-MB32 1.260 1.260 1.2598 45
EX 32X50-MB32 1.260 1.968 1.2598 69
EX 40X40-MB40 1.575 1.575 1.5748 .85
EX 40X63-MB40 1.675 2.480 1.5748 1.35
EX 50X50-MB50 1.968 1.968 1.9685 1.54
EX 50X80-MB50 1.968 3.150 1.9685 2.65
EX 50X100-MB50 1.968 3.937 1.9685 3.37
EX 63X63-MB63 2.480 2.480 2.4803 3.28
EX 63X100-MB63 2.480 3.937 2.4803 5.27
EX 63X125-MB63 2.480 4.921 2.4808 6.59
EX 80X80-MB80 3.150 3.150 3.1496 6.84
EX 80X125-MB80 3.150 4.921 3.1496 10.80
EX 80X160-MB80 3.150 6.299 3.1496 13.78
EX 110X140-MB110 4.331 5512 4.3307 23.04
EX 110X200-MB110 4.331 7.874 4.3307 31.53

¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ISCAR




ITSB0RE r L]
RE MB-MB ; s
Reducers for the MB Modular — O
Connection System ‘ ?
DCONMS- {-DCONWS CD
N
|_
. =
RE MB16-MB14X24 630 6512 984 .768 10
RE MB20-MB14X19 787 5512 787 571 07
RE MB20-MB16X20 787 6299 787 630 12
RE MB25-MB14X19 984 5512 787 531 13
RE MB25-MB16X20 984 6299 787 591 18
RE MB25-MB20X25 984 1874 .984 787 .21
RE MB32-MB14X25 1.260 5512 984 .689 .18
RE MB32-MB16X24 1.260 6299 945 709 .30
RE MB32-MB20X25 1.260 1874 .984 787 31
RE MB32-MB25X28 1.260 .9842 1.102 .906 35
RE MB40-MB14X25 1.575 5512 984 650 50
RE MB40-MB16X24 1.575 .6299 .945 669 49
RE MB40-MB20X26 1.575 1874 1.024 787 .52
RE MB40-MB25X28 1.575 .9842 1.102 .866 .56
RE MB40-MB32X32 1.575 1.2598 1.260 1.063 .65
RE MB50-MB14X25 1.968 5512 984 571 .88
RE MB50-MB14X39 1.968 5512 1.535 1.201 92
RE MB50-MB16X24 1.968 6299 .945 591 .86
RE MB50-MB16X40 1.968 6299 1.575 1.220 .90
RE MB50-MB16X74 1.968 6299 2913 2.559 1.04
RE MB50-MB20X26 1.968 1874 1.024 .709 .88
RE MB50-MB20X70 1.968 1874 2.756 2.441 1.11
RE MB50-MB20X93 1.968 7874 3.661 3.346 1.23
RE MB50-MB25X117 1.968 .9842 4.606 4.331 1.50
RE MB50-MB25X28 1.968 9842 1.102 827 94
RE MB50-MB25X87 1.968 .9842 3.425 3.150 1.40
RE MB50-MB32X144 1.968 1.2598 5.669 5.3%4 2.41
RE MB50-MB32X32 1.968 1.2598 1.260 984 1.02
RE MB50-MB32X87 1.968 1.2598 3425 3.150 1.57
RE MB50-MB40X176 1.968 1.5748 6.929 6.693 412
RE MB50-MB40X36 1.968 1.5748 1.417 1.181 113
RE MB50-MB40X87 1.968 1.6748 3.425 3.150 2.14
RE MB63-MB50X40 2.480 1.9685 (1675} 1.339 2.14
RE MB80-MB50X45 3.150 1.9685 1.772 1.417 2.98
RE MB80-MB63X60 3.150 2.4803 2.362 2.047 3.91
RE MB110-MB80X70 4,331 3.1496 2.756 2.047 13.23
o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
ITSB0RE 4]&
RE MB-AVI P
MB Modular System Vibration oconwms =1
Damping Reducers v
|
LPR
Designation DCONMS DCONWS LPR BD LB Lbs]
RE MB50-MB16X74-AVI 1.968 .6299 2913 689 2.559 113
RE MB50-MB20X93-AVI 1.968 7874 3.661 846 3.346 1.42
RE MB50-MB25X117-AVI 1.968 .9842 4.606 1.063 4.331 2.03
RE MB50-MB32X144-AVI 1.968 1.2598 5.669 1.378 5.433 3.24
RE MB50-MB40X176-AVI 1.968 1.5748 6.929 1.850 6.693 5.87
RE MB63-MB50X220-AVI 2.480 1.9685 8.661 2.362 8.425 11.03
RE MB80-MB63X280-AVI 3.150 2.4803 11.024 3.031 10.709 22.93

o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

Member IMC Group
(| I
L 4 111]




L
o
O
m
n
=

ITS50RE . ﬁ
CHR MB — Z T
Coolant Supply Collar for the ' ‘ .
MB Modular Boring System DCONMS E N LS
55 452
> LB |-
~LPR~!
DCONMS DCONWS BD LB LPR RPMX") cpP@ i
CHR MB63 2.480 2.4803 4.528 1.378 2.480 3500 145 7.28

¢ Important: coolant flow must be started prior to rotating the spindle to avoid damage of the O-rings e Verify that the weight of the entire tool assembly does not exceed the
machine spindle's carrying capability.

() Maximum RPM

(2 Goolant pressure (PSl)

y _ ry_ Vv _ 7 |
ITS50RE ® e @ ﬁ
Ls ADJRGA

EMH MB 4'{7 2° Whistle notch

Weldon and Whistle Notch L [>T EMH 1835-E

Side-Lock Holders with } ] v

the MB Modular Boring ECORES e DCOL\'WS EiD

Connection System y = A LL E;: T

EMH 1835-B

Designation DCONMS  DCONWS BD LB LPR L5 ADJRGA Fig. Lbs
EMH MB50-1/4 1.969 .250 .980 .930 1.380 .280 .080 1. 1.06
EMH MB50-3/8 1.969 .380 1.380 1.650 2.050 430 120 1. 1.54
EMH MB50-1/2 1.969 500 1.650 1.890 2.240 430 120 1. 1.87
EMH MB50-5/8 1.969 630 1.890 2.400 2.640 670 .160 1. 2.49
EMH MB50-3/4 1.969 750 1.970 - 2.640 630 .160 1. 2.59
EMH MB63-5/8 2.480 630 1.890 2.090 2.520 550 .160 1. 3.22
EMH MB63-1 2.480 1.000 2.480 - 3.070 590 .160 2. 4.69
EMH MB63-1 1/4 2.480 1.250 2.760 - 3.070 550 .160 2. 5.34
EMH MB80-1 1/2 3.150 1.500 3.150 - 3.270 430 .160 2. 7.23
EMH MB80-2 3.150 2.000 3.740 - 3.940 470 .160 2. 10.36

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITS50RE &-5

CC MB-ER

DIN 6499 ER Collet Chuck
with the MB Modular Boring
Connection System

\
DCONNWS
DCOI\AXWS

(
Designation DCONMS  CSI  DCONNWS( DCONXWS® BD LPR L5  ADJRGA & /
.079 Al

CC MB16 ER11M 630 ER11 .020 .276 630 .984 .098 NUT ER11 MINI - WRENCH ER11 MINI*
CC MB20 ER16M 787 ER16 .020 .394 866 1.260 .039 079 A1 NUTER16 MINI - WRENCH ER16 MINI
CC MB25 ER20M 984 ER20 .039 512 1.102 1.575 .098 .079 32 NUTER20 MINI WRENCH ER20 MINI
CC MB32 ER25M 1.260 ER25 .039 .630 1.378 1.654 .059 079 51 NUTER25 MINI - WRENCH ER25 MINI*
CC MB40 ER25 1.575 ER25 .039 .630 1.654 1.772 197 .079 98 NUT ER25 TOP WRENCH ER25*
CC MB50 ER25 1.968 ER25 .039 .630 1.654 1.890 .276 079 1.48  NUT ER25 TOP WRENCH ER25*
CC MB50 ER32 1.968 ER32 079 787 1.968 2.165 276 079 1.75  NUT ER32 TOP WRENCH ER32"
CC MB63 ER32 2.480 ER32 079 .787 1.968 2.323 472 079 2.98  NUT ER32 TOP WRENCH ER32*
CC MB63 ER40 2.480 ER40 118 1.024 2480 2.520 472 .079 343  NUT ER40 TOP WRENCH ER40*

() Minimum diameter
) Maximum diameter
*  Optional, to be ordered separately

il
3 U g

Wz
C
3

ISCAR



ITS50RE

DC MB

DIN238 DC Drill Chuck
Arbor with the MB Modular
Connection System

DCONMS

DCONMS Tt LF

DC MB50 B16 1.968 B16 394 88

e Without drill chuck.

ITSB0RE ,f

L LSCWS

SMH B

Shell Mill Holders with

MB Modular Boring ! oS B

System Connection l

DCONMS DCONWS BD LSCWS LF &
SMH MB50-3/4 1.969 .750 1.570 .680 590 1.16
SMH MB50-1 1.969 1.000 1.960 680 590 1.40
SMH MB63-3/4 2.480 .750 1.570 .680 650 1.98
SMH MB63-1 2.480 1.000 2.360 680 590 2.33
SMH MB63-1 1/4 2.480 1.250 2.750 680 750 2.82
SMH MB80-1 1/2 3.150 1.500 3.460 .940 940 5.05
SMH MB80-2 3.150 2.000 3.850 .940 1.060 6.58

* When mounting slitting cutters, remove the drive dogs and use spacer rings.

carrying capability.

Spare Parts

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's

@ )

@ €]

f @

SMH MB50-3/4
SMH MB50-1
SMH MB63-3/4
SMH MB63-1
SMH MB63-1 1/4
SMH MB80-1 1/4
SMH MB80-1 1/2
SMH MB80-2

SCREW 3/8-24 SEM 3/4
SCREW 1/2-20 SEM 1
SCREW 3/8-24 SEM 3/4
SCREW 1/2-20 SEM 1
SCREW 5/8-18 SEM 1-1/4
SCREW 5/8-18 SEM 1-1/4
SCREW 3/4-16 SEM 1-1/2
SCREW 1-14 SEM 2-1/2

BH DOG DRIVE SMH 3/4"
BH DOG DRIVE SMH 1"
BH DOG DRIVE SMH 3/4"
BH DOG DRIVE SMH 1"
BH DOG DRIVE SMH 11/4"
BH DOG DRIVE SMH 11/4"
BH DOG DRIVE SMH 11/2"
BH DOG DRIVE SMH 2"

KEY SMH 3/4"
KEY SMH 1"
KEY SMH 3/4"
KEY SMH 1"
KEY SMH 11/4"
KEY SMH 11/4"
KEY SMH 11/2"
KEY SMH 2"

M4X10S8MH KEY SCREW
M5X12SMH KEY SCREW
M4X10SMH KEY SCREW
M&X12SMH KEY SCREW
M6X16SMH KEY SCREW
M6X16SMH KEY SCREW
M6X18SMH KEY SCREW
MBX25SMH KEY SCREW

* Optional, to ordered separately

Spare Parts

Designation

&

S

7

/

SMH MB50-3/4
SMH MB50-1
SMH MB63-3/4

SMH MB63-1
SMH MB63-1 1/4
SMH MB80-1 1/2
SMH MB80-2

SCREW 3/8-24 SEM 3/4"

SCREW 3/8-24 SEM 3/4"

SCREW 3/4-16 SEM 1-1/2
SCREW 1-14 SEM 2-1/2

BH DOG DRIVE SMH 3/4"
BH DOG DRIVE SMH 1"
BH DOG DRIVE SMH 3/4"
BH DOG DRIVE SMH 1"
BH DOG DRIVE SMH 11/4"

BH DOG DRIVE SMH 2"

PF63-11/4 COD.3

M4X10SMH KEY SCREW

M4X10SMH KEY SCREW

SR M6X18 DIN912

Member IMC Group

LLJ
o
O
m
n
=




ITS50RE

SMH MB

Shell Mill Holders with
the MB Modular Boring
Connection System

L
o
O
m
n
=

Designation DCONMS DCONWS BD DBC THID LF LSCWS Fig. %
SMH MB40-16 40,00 16.00 32.00 o . 15.00 17.00 1 0.32
SMH MB40-22 40,00 22,00 40,00 - - 13.00 19.00 1 0.38
SMH MB50-16 50.00 16.00 32.00 - - 15.00 17.00 1 048
SMH MB50-22 50.00 22.00 40.00 - - 15.00 19.00 1 0.55
SMH MB50-27 50.00 27.00 50.00 - - 15.00 21.00 1 0.66
SMH MB50-32 50.00 32.00 60.00 - - 15.00 24,00 1 0.79
SMH MB63-22 63.00 22,00 60.00 - - 15.00 19.00 1, 1.01
SMH MB63-27 63.00 27.00 60.00 - - 15.00 21.00 1, 1.09
SMH MB63-32 63.00 32.00 70.00 - - 15.00 24.00 1 1.24
SMH MB80-32 80.00 32,00 88.00 - - 24,00 24,00 1 2.09
SMH MB80-40 80.00 40,00 88.00 66.70 M2 24,00 27.00 2 2.25
SMH MB80-50 80.00 50.00 90.00 - - 24,00 30.00 2 258
SMH MB80-60 (1) 80.00 60.00 128.50 101.60 M16 31,50 40.00 2, 4.19
SMH MB110-60 (1) 110.00 60.00 128,50 101.60 M16 36.00 40.00 2, 7.56

¢ When mounting slitting cutters, remove the drive dogs and use spacer rings. ® Verify that the weight of the entire tool assembly does not exceed the machine spindle's
carrying capability.
() Shell locking screw not supplied

Spare Parts

) % @ @ o f @
Designation @

SMH MB40-16 M 8 CLAMP SCREW SEM 16 BH DOG DRIVE SMH 16 KEY SMH 16 M3X8 SMH KEY SCREW
SMH MB40-22 M 10 CLAMP SCREW SEM 22 BH DOG DRIVE SMH 22 KEY SMH 22 M4X10SMH KEY SCREW
SMH MB50-16 M 8 CLAMP SCREW SEM 16 BH DOG DRIVE SMH 16 KEY SMH 16 M3X8 SMH KEY SCREW
SMH MB50-22 M 10 CLAMP SCREW SEM 22 BH DOG DRIVE SMH 22 KEY SMH 22 M4X10SMH KEY SCREW
SMH MB50-27 M 12 CLAMP SCREW SEM 27 BH DOG DRIVE SMH 27 KEY SMH 27 M5X12SMH KEY SCREW
SMH MB50-32 M 16 CLAMP SCREW SEM 32 BH DOG DRIVE SMH 32 KEY SMH 32 M6EX16SMH KEY SCREW
SMH MB63-27 M 12 CLAMP SCREW SEM 27 BH DOG DRIVE SMH 27 KEY SMH 27 M5X12SMH KEY SCREW
SMH MB63-32 M 16 CLAMP SCREW SEM 32 BH DOG DRIVE SMH 32 KEY SMH 32 M6EX16SMH KEY SCREW
SMH MB80-32 M 16 CLAMP SCREW SEM 32 BH DOG DRIVE SMH 32 KEY SMH 32 MBX16SMH KEY SCREW
SMH MB80-40 M 20 CLAMP SCREW SEM 40 BH DOG DRIVE SMH 40 KEY SMH 40 M6X18SMH KEY SCREW

Spare Parts

5 S 4 ’ &

SMH MB40-16 M8 CLAMP SCREW SEM16 BH DOG DRIVE SMH 16 PF 50/16 COD.3 SR M3X8DIN912 BH MB40 COUPLING SET
SMH MB40-22 M10 CLAMP SCREW SEM22 BH DOG DRIVE SMH 22 PF50/22 COD.3 M4X10SMH KEY SCREW BH MB40 COUPLING SET
SMH MB50-16 M8 CLAMP SCREW SEM16 BH DOG DRIVE SMH 16 PF 50/16 COD.3 SR M3X8DIN912 BH MB50 COUPLING SET
SMH MB50-22 M10 CLAMP SCREW SEM22 BH DOG DRIVE SMH 22 PF50/22 COD.3 M4X10SMH KEY SCREW BH MB50 COUPLING SET
SMH MB50-27 M12 CLAMP SCREW SEM27 BH DOG DRIVE SMH 27 KEY SMH 27 SR M5X12 DIN912 BH MB50 COUPLING SET M5
SMH MB50-32 M16 CLAMP SCREW SEM32 PF63/32 COD.3 SR M6X16 DIN912 BH MB50 COUPLING SET
SMH MB63-27 M12 CLAMP SCREW SEM27 BH DOG DRIVE SMH 27 KEY SMH 27 SR M5X12 DIN912 BH MB63/80 COUPLING SET
SMH MB63-32 M16 CLAMP SCREW SEM32 PF63/32 COD.3 SR M6X16 DIN912 BH MB63/80 COUPLING SET
SMH MB80-32 M16 CLAMP SCREW SEM32 PF63/32 COD.3 SR M6X16 DIN912 BH MB63/80 COUPLING SET
SMH MB80-40 M20 CLAMP SCREW SEM40 PF80/40 COD.3 SR M6X18 DIN912 BH MB63/80 COUPLING SET

ISCAR




ITSB0RE LL]
LPR
TP MB-M . by ¢ < am
Tapping Chucks with the T ( )
MB Modular Connection System DCONMS DCONWS EID Flb ,,z » Fif CD
: 1
g B— CD
-~
Designation DCONMS  Tap min Tap max LB LPR BD DCONWS FIf Flb Lbs
TP MB50-M 3-12 1.968 M1 M14 2,559 2.992 1.47 748 .30 .30 1.73
TP MB50-M 8-20 1.968 M4.5 M20 - 4173 2,087 1.220 49 49 3.53
TP MB63-M 3-12 2.480 M1 M14 2.252 2.756 1.47 748 30 .30 2.50
TP MB63-M 8-20 2.480 M4.5 M20 3.661 4,094 2,087 1.220 49 49 413
* Please verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
ITSB0RE
TCS-ANSI
Quick Change Collet }
for Solid Taps DCONMS
DCONWS® s@ Th BD DCONMS LSCWS LPR LS
TCS #2 ANSI .255X.191 255 191 1/4 1.890 1.220 1.180 430 1.380
TCS #2 ANSI .429X.322 429 322 9/16 1.890 1.220 1.180 430 1.380
TCS #2 ANSI .542X.406 542 406 11/16 1.890 1.220 1.180 430 1.380

) According to tap shank size
(2 Square size

Member IMC Group
(| I
L 4 111]




ITS50RE

AMT MB-MT

LL]
s
O MB Modular Connection —
System with Morse Taper THID DCONMS DCONWS  BD
AR Tang DIN 228 AB 't —
CIL) DIN 228A DIN 228B =
Tt DCONMS  DCONWS BD THID LB LPR fm
AMT MB50-MT1 MT1 1.968 475 187 M6 2,677 3.150 1.15
AMT MB50-MT2 MT2 1.968 .700 1.181 M10 3.386 3.937 1.7
AMT MB50-MT3 MT3 1.968 938 1.417 M12 4.331 4,724 2.26
AMT MB63-MT3 MT3 2.480 .938 1.417 M12 4.252 4.724 3.09
AMT MB63-MT4 MT4 2.480 1.231 1.890 M16 5.236 5.906 4.86

* Please verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

AMT AL
Screw for Shanks — Morse
Taper Tang AMT

Spare Parts

1

AMT MB50-MT2 AMT MT2-SCREW
AMT MB50-MT3 AMT MT3-SCREW
AMT MB63-MT3 AMT MT3-SCREW
AMT MB63-MT4 AMT MT4-SCREW

ITS50RE -
.4.‘ l«— LB —

BLANK MB T

Blanks with MB Modular

Connection System DCOIE jD

55-60 HRC 22-25 HRC

o s &=
BLANK MB50-63X160 1.968 2.480 6.299 9.79
BLANK MB63-80X200 2.480 3.150 7.874 19.34
BLANK MB80-100X250 3.150 3.937 9.843 36.65
BLANK MB110-130X250 4.331 5118 9.843 39.69

* Material: 39NiCrMo3

ISCAR




ITS50RE USER GUIDE LL|
Rough Boring Options 8
Light Roughing C|L)
Roughing with High or Semi-Finishing r

Roughing with High Feed Cutting Depth Applications

o} o 2 0 —= )
I ' ' !

Al A Al oA 12T a | ™ 5 A M

7 ‘ 1 Z I A 1] i | ‘ L ! A I

CR LNHT CR LNHT CR SOMT CR SOMT 1HSR | [IHSR IHCR | [IHSR_ PLT | [IHSR

Fig. a Fig. b Fig. c

1 Radial setting of the cutting edges should be
carried out with tool presetting equipment.
2 Boring bars fitted with two insert pockets are for roughing
operations involving heavy chip removal.
The double-insert boring bars include:
- Two IHSR/CR SOMT/CR LNHT insert holders on the
same plane with the two cutting edges set at an identical
radial distance for high feed rate roughing operations
(Fig. a).
- An IHCR insert holder and an IHSR insert holder not on
the same plane with the two cutting edges set at different
radial distances for high-depth roughing operations (Fig. b).
3 Boring bars fitted with a single insert holder are for
roughing and finishing operations involving normal
chip removal. The serrated surface protection
plate PLT should always be used (Fig. c).

Rough Boring Head Diameter Range

»
27.56-43.39

=)
&2

Member IMC Group

(T [Tl 471



—L1

l TSBGRE f=LF (assembly)
BHR MB q /Ki

LLJ

s

O Rough Boring Heads for ||“""'g'!§\|‘

Diameter Range .709-7.874" {m%" Jy ep DCONMS jiEEE=

m LlllI #

CD IHBR| IHSRBW

I— C D

_
Designation BD DCONMS LF DCN( DCX® L1 IH®) RPMX@ Lbs]
BHR MB16-16X34 .630 .630 1.339 .709 .866 - IH...18-22 12000 14
BHR MB20-20X40 787 787 1.594 .866 1.102 - |H...22-28 12000 .23
BHR MB25-25X50 984 984 1.968 1.102 1.496 - |H...28-38 10000 40
BHR MB32-32X63 1.260 1.260 2.480 1.398 1.968 - IH...36-50 10000 .79
BHR MB40-40X80 1575 1575 3150 1.968 2677 - H...50-68 8000 1.54
BHR MB50-50X100 2.165 1.968 3.937 2.677 3.543 1.968 IH...68-90 8000 3.27
BHR MB50-63X80 2.835 1.968 3.150 3.543 4724 2,362 IH..90-120 8000 3.31
BHR MB63-63X125 2.835 2.480 4.921 3.543 4.724 2.480 [H...90-120 6000 6.81
BHR MB80-80X140 3.740 3.150 5.512 4.724 7.874 2.953 IH...120-800 5000 11.87

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
() Cutting diameter minimum

(@) Cutting diameter maximum

@ Insert holders

@) Maximum RPM

Spare Parts

& & 7/ #

BHR MB16-16X34 BH NUT BHR MB16 PLT 16* SR M3X14 DIN912 SR M3X8 DIN913
BHR MB20-20X40 BH NUT BHR MB20 PLT 20* SR M4X15DIN912 BH M3X5UNI5923
BHR MB25-25X50 BH NUT BHR MB25 PLT 25* SR M4X20 DIN912 SR M3X8 DIN913
BHR MB32-32X63 BH NUT BHR MB32 PLT 32° SR M5X25DIN912 SR M4X12 DIN913
BHR MB40-40X80 BH NUT BHR MB40 PLT 40* SR M6X30 DIN912 SR M5X14 DIN913
BHR MB50-63X80 BH NUT BHR MB50 PLT 50* SR M10X40DIN912 SR M5X12 DIN913
BHR MB63-63X125 BH NUT BHR MB63 PLT 63* SR M10X40DIN912 SR M6X16 DIN913
BHR MB80-80X140 BH NUT BHR MB80 PLT 80 SR M12X45DIN912 SR M8X25 DIN913

ISCAR




Y.y v 7V _J

DYUriE

ITS5

USER GUIDE

BHR MB - Additional Information

1.339

(91+0.669):2

3 2

BHR MB16- 16X34 2 :{a.) <

© (2] N~

2.709 ~ .866 S S ©

MB16 S % S

IHSR 18-22 8  IHSR 20-24 BW
1594 N~ 1.28
< ©

P 22 y 8 5 =

BHR MB20- 20X40 5 = < -

?.866 ~ 1.102 s [ g §, €

@ I Nl

MB20 Q € Q

IHSR 22-28 Q IHSR 23.5-30BW
1.969 & 1.535 1.969
Q Z o S

© QN ©N O, @c ©
’E)': «SF § O] \‘ \) g
BHR MB25- 25X50 & & T Ak 5
?1.102 ~ 1.496 A 4 2 Q
S § 8 S
::gg ggg% IHSR 29.5-40BW IHSR 26-38 CH15 IHSR 26-38 CH45

IHSR 26-38 CH30

BHR MB32- 32X63
21.398 ~ 1.969

01.398-1.969

1.969

Omin=(@1+1.299):2
@1.26

%ﬂﬂ
21
©1.535-2.047

ﬁ

THSR 34.5-49 CH45
IHSR 34.5-49 CH30

©1.358-1.929

?

IHSR 36-50 IHSR 36-50-09 IHSR 39-52 BW IHSR 34.5-49 CH15
IHCR 36-50 IHCR 36-50-09
3.15
2.402 _‘
~ N
0 2 5 |3 2 8 o 18
BHR MB40- 40X80 |- g & o b
01.969 ~ 2.677 5 e 8 -
c ol Q
e Q
MB40 IHSR 50-68 IHPR 50-68 §
IHCR 50-68 IHSR 46.5-66 CH45
IHSR 50-68-12 IHSR 51-70 BW
IHOR 50-68-12 IHSR 46.5-66 CH15 IHSR 46.5-66 CH30
3.169 3.937
7 R
BHR MB50- 50X100 | 3| & o 9 g o 2
02677 ~3543 | & 2 NI E I ToeE 8
[SINS] © T Q S o
Q € Q Q
I A 7777
IHSR 68-90 IHSR 65-88 CH45
IHCR 68-90  IHPR 68-90 IHSR 69-92 BW IHSR 65-88 CH15

IHSR 65-88 CH30

Member IMC Group
(| I
L 4 111]

LLJ
o
O
m
n
=




ITS5CRE USER GUIDE
BHR MB - Additional Information

L
o
O
m
n
=

8.15 2.185
2.087
1.299‘ . _
Q © © o e
: < N %)
8 Y Q 2 te} &
BHR MB50- 63X80 88 I %8 -3
?3.543 ~ 4.724 SIES S SRS °l8
8 £ %)
IS Q
®,7
MBS0 IHSR 90-120 | v .
IHCR 90-120 IHBR 90-120
IHPR 90-120 IHSR 91-122 BW
4.921
3.858 ‘ 3.957
PN [©)
3 5, 2
BHR MB63- 63X125 | 3 3 3 9 8 -3
?3.543 ~ 4.724 gy 3 8 8 °8
®,7
IHSR 90-120 ‘ IHBI‘? 90-120
IHCR 90-120 IHPR 90-120 IHSR 91-122 BW
5.512 4.35
4.252
© © I — ©
. o
> 9 @
2 3 ® o % 2
~| 3 e <<
8 8 Q gl 8 5|3
< I <
Q £ Q
Q
\ 7 o
IHSR 120-160 IHBR 120-160
IHCR 120-160 — IHPR 120-160 IHSR 121-162 BW
BHR MB80-80X140 5512 a5
?4.724 ~ 7.874 R
@ N
e | — &)
[N
N o
2 2
. Sl )
& IS 3
8§ 1 ° 2
£ g
II\ ® I
IHSR 160-800 i i ' v —
IHCR 160-800 IHPR 160-800  IHBR 160-800
IHSR 160-800-19 IHPR 160-800-19 IHSR 161-802 BW

ISCAR




F vy LU
IHSR-MIFR 1 . oC
Trepanning Cartridges Carrying WB \} O
MINCUT Inserts Mounted on the M J 2. DAXN
BHR MB32-32X63 Boring Head ; DAXX CD

L OAL ——J «OAHJ CD
DAXN(™ DAXX@ CWN® Cwx® OAL WB OAH Insert & ?

IHSR 8-21 MIFR8 Kl .83 .059 .087 1.260 .906 690 MIR 8 SR 14-297 T-8/5
IHSR 19-34 MIFR10 .75 1.34 079 118 1.063 .866 .700 MILR 10 SR 34-506 M3X0.5 T-9/5
) Minimum axial grooving diameter
2) Maximum axial grooving diameter
) Minimum cutting width
@ Maximum cutting width

For inserts, see pages: MIFR (475)
For holders, see pages: BHR MB (472)

et
MIK CUT MIFR 15 MIFR 10 MIFR 8
MINI FACE LINE . CDX < PDY - g EJ
Slﬂrgv? Clamped Inserts D/g@ T/@ ‘ S:1 %ﬁ" :
for Internal Face Grooving DAXN oA k INSL—= = <WE
and Turning, Penetration UCDX =
Diameter Range .315-.669" @ﬁﬁ'
&0
Dimensions Re°°!“!“e”ded
Machining Data

=3 f face-groove | f face-turn
Designation INSL CW CWTOL®W RE RETOL® WF S1 DAXN® DAXX®  CDX PDY 3 (IPR) (IPR)
MIFR 8-1.50-0.20 697 .059 .00078 0079 .0008 102 .256 31 45 217 433 L] .0008-.0039 .0008-.0024
MIFR 8-1.60-0.80 .697 .063 .00078 0315 .0008 102 .256 31 48 217 433 o .0008-.0039 .0008-.0024
MIFR 8-2.00-0.20 .697 .079 .00078 .0079 .0008 110 .256 31 .63 217 433 ° .0008-.0039 .0008-.0024
MIFR 8-2.20-0.20 697 .087 .00078 .0079 .0008 114 .256 31 .83 217 433 L] .0008-.0039 .0008-.0024
MIFR 10-2.00-0.20 .988 .079 .00078 .0079 .0008 118 299 .39 = 354 583 o .0008-.0039 .0008-.0024
MIFR 10-2.00-1.00 .988 .079 .00078 .0394 .0008 118 299 .39 = 354 583 o .0008-.0039 .0008-.0024
MIFR 10-2.50-0.20 .988 .098 .00078 .0079 .0008 122 .299 .39 1.18 354 583 o .0008-.0039 .0008-.0024
MIFR 10-2.50-1.25 .988 .098 .00078 0492 .0008 130 299 .39 = 354 583 o .0008-.0039 .0008-.0024
MIFR 10-3.00-0.20 .988 118 .00078 .0079 .0008 134 .299 .39 1.18 354 583 o .0008-.0039 .0008-.0024
MIFR 10-3.00-1.50 .988 118 .00078 0590 .0008 130 .299 .39 1.34 354 583 L] .0008-.0039 .0008-.0024
MIFR 15-2.50-0.20 BRRE] .098 .00078 .0079 .0008 219 .354 .59 2.36 591 .760 o .0012-.0020 .0012-.0016
MIFR 15-2.50-1.25 BRRE] .098 .00078 .0492 .0008 219 .354 A7 1.85 591 .760 o .0012-.0020 .0012-.0016
MIFR 15-3.00-0.20 BRRE] 118 .00078 0079 .0008 .230 .354 59 2.36 591 760 L] .0012-.0020 .0012-.0016
MIFR 15-3.00-1.50 BRRE] 118 .00078 .0590 .0008 .230 .354 .39 ® 591 .760 o .0012-.0020 .0012-.0016
MIFR 15-3.50-0.20 BRRE] .138 .00078 0079 .0008 .236 .364 .39 = 591 .760 o .0012-.0020 .0012-.0016

¢ Recommended cutting speeds and feeds can be increased by 20-30% for aluminim, and reduced by 20-30% for titanium and Inconel
() Cutting width tolerance (+/-)

(@ Corner radius tolerance (+/-)

@) Minimum axial grooving diameter

4 Maximum axial grooving diameter

For tools, see pages: IHSR-MIFR (475)

MIFR 8 MIFR 10 MIFR 15

7

Member IMC Group
(| I
L 4 111]




ITS5GRE .
% 315, o s

TCH AL =&
O Aluminum Twin Cutter

Heads for Rough and Fine S;% o DCONMS% FR .
CD Boring Operations, Diameter U ] o
CD Range 7.87-47.24" % \

DCN®  DCX?  BD DCONMS  DBC ss OAW  CXT BH  CSP®  RPMXY &

TCH AL200 7.874 23.701 7.638 1.575 2.626 80 = = 2126 1 700 7.06
TCH AL300 11.811 27.638 11.339 1.575 2.626 80 = = 2.126 1 400 8.60
TCH AL400 15.748 31.675 16.512 1.575 2.626 80 = 1/4GAS 2402 0 300 16.21
TCH AL500 19.685 36.612 19.449 2.362 4.000 80,110 5.039 1/4GAS 2,717 0 200 19.18
TCH AL600 23.622 39.449 23.386 2.362 4,000 80,110 5.039 1/4GAS 2.795 0 200 18.39
TCH AL700 27.559 43.386 27.323 2.362 4,000 80,110 5.039 1/4GAS 2913 0 200 18.39
TCH AL800 31.496 47.323 31.260 2.362 4.000 80,110 5.039 1/4GAS 3.150 0 150 33.52

e Aluminum body, with steel serrated seats ® The "O" position on the counterweight balances the BHF boring head for .787" boring diameter position. For every .394" change
in boring diameter, move the counterweight by 1 measurement mark e Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying
capability e For spare parts, see pages 509-510, 546

(1) Cutting diameter minimum

(2) Cutting diameter maximum

() 0 - Without coolant supply, 1 - With coolant supply

@) Maximum RPM

For tools, see pages: [HBR (479) ¢ IHCR (478) ® IHPR (479) ¢ IHSR (478)  IHSR-BW (480)

Spare Parts

. . o o ;7 7 &£ 7 @

(o, VAR BHTCHNUTA  BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 SR M12X35DIN912 SR M8X25DIN912

TCH AL300 SR M8X40DIN915  BHTCHNUTA  BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 SR M12X35DIN912 SR M8X25DIN912
TCH AL400 SRM8X40 DIN915  BHTCHNUTA ~ BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 SR M12X35DIN912 E&?EZS@E%% SR M8X40 DIN915
SR M16X50 BH SERRATED

TCH AL500 BHTCHNUTA  BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 DINO12 SR M8X25DIN912 PLATE 400-700 SR M8X40 DIN915
BH SERRATED SR M16X50

TCH AL600 PLATE 400-700 SRM8X40DIN915  BHTCHNUTA ~ BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 DING12 SR MBX25DIN912 SR M8X40 DIN915
BH SERRATED SR M16X50

TCH AL700 PLATE 400-700 SRM8X40 DIN915  BHTCHNUTA ~ BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 DING12 SR M8X25DIN912 SR M8X40 DIN915
BH SERRATED SR M16X50

TCH AL800 PLATE 400-700 SRM8X40DIN915 BHTCHNUTA  BHTCHNUTB  BHTCHNUTC SR M12X40DIN912 DING12 SR M8X25DIN912 SR M8X40 DIN915

ISCAR




Large Diameter Double Edge Rough Boring Options

OAW ‘4 » LF ‘4 ¢LF72T ﬁ» LF 4 = LLI
DIN2080-CP 315 = BH IHSR 161-802 BW “ D:
(centering plug) ‘ r | i 2 O
—
SMH MB80-40/60
SMH MB110-60 - oM CD
L Ly TOHH X 100/300 DMIN I—
% BD DCONMS HIFR=Y o DCN-DCX xtension siAes peN-DOX DON-DCX(3,4) | BD DCN-DCX(3,4) —_—
DBC
HSK A 100 FM 60X 70 B @ r
BNege71-Fu t '
TCH... IHPR 160-800-19 TCHH EX 100/300
IHSR 160-800) .
IHCR 160-800 IHSR 160-800-19 DMIN=(DCN(3,4)+BD+1)/2
IHPR 160-800 IHBR 160-800

Aluminum Twin Cutter Heads

Boring Tools Extension Slides Dimensions TCH 200 TCH 300 TCH 400 TCH 500 TCH 600 TCH 700 TCH 800
IH.R 160-800/-19 DCN-DCX 79-11.8 11.8-15.7 15.7-19.7 19.7 - 23.6 23.6-27.6 276-315 315-354
IH.R 160-800/-19 TCHH EX 100 DCN-DCX 11.8-15.7 15.7-19.7 19.7 - 23.6 23.6-27.6 276-315 315-354 354 -394
H.R 160-800/-19 TCHH EX 300 DCN-DCX 16,7 - 23.6 19.7-27.6 23.6-31.5 27.6-35.4 31.5-394 35.4-433 39.4-472
IHSR 161-802 BW DCN-DCX(3,4) 8-11.9 11.9-15.8 15.8 - 19.8 19.8-28.7 23.7-27.6 27.6-31.6 316-355
IHSR 161-802 BW TCHH EX 100 DCN-DCX(3,4) 11.9-15.8 15.8-19.8 19.8-23.7 23.7-27.6 27.6-316 316-355 35.5-394
IHSR 161-802 BW TCHH EX 300 DCN-DCX(3,4) 15.8 - 23.7 19.8 - 27.6 23.7 - 31.6 27.6/-185.5 31.6-394 35,5 -434 39.4-473
IH.R 160-800 LF 3.4 34 3.7 4.0 41 4.2 44
IH.R 160-800-19 LF 3.7 3.7 4.0 4.3 44 45 4.7
IH.R 160-800 TCHH EX 100 LF 2 4.6 4.6 4.8 5.2 5.2 54 5.6
IH.R 160-800 TCHH EX 300 LF 2 50 50 5.2 5.6 5.6 5.7 6.0
IH.R 160-800-19 TCHH EX 100 LF 2 49 49 5.2 619 5.6 5.7 5.9
IH.R 160-800-19 TCHH EX 300 LF 2 53 53 5.6 59 59 6.1 6.3
HSR 161-802 BW LF3 2.2 2.2 2.5 2.8 2.9 3.0 3.2
IHSR 161-802 BW TCHH EX 100 LF 4 34 3.4 3.7 4.0 441 4.2 44
IHSR 161-802 BW TCHH EX 300 LF 4 3.8 3.8 41 4.4 45 4.6 4.8

Member IMC Group
(| I
L 4 111]




ITS50nRE

IHSR '
Rough Boring Tools WF
For Twin Radial / Axial _
Edge Cutters Positioned 000

OAL

Opposite Finishing Tools

L
o
O
m
n
=

DCN DCX@ WF OAL Insert & 7 /

IHSR 18-22 709 .866 315 591 CCMT 2... SR 14-548 T-7/5
IHSR 22-28 866 1.102 374 748 CCMT 2... SR 14-548 T-7/5
IHSR 28-38 1.102 1.496 492 .906 CCMT 2... SR 14-548 T-7/5
IHSR 36-50 1.398 1.968 591 1.260 CCMT 2... SR 14-548 T-7/5
IHSR 36-50-09 1.398 1.968 591 1.260 CCMT 3... SR 16-236 T-16/5
IHSR 50-68 1.968 2.677 748 1.575 CCMT 8... SR 16-236 T-15/5
IHSR 50-68-12 1.968 2677 748 1.575 CCMT 43... SR 16-212 T-20/5
IHSR 68-90 2677 3.543 866 2.126 CCMT 43... SR 16-212 T-20/5
IHSR 90-120 3.543 4724 1.063 2.776 CCMT 48... SR 16-212 T-20/5
IHSR 120-160 4.724 6.299 1.260 3.720 CCMT 43... SR 16-212 T-20/5
IHSR 160-800 6.299 31.496 1.260 5.118 CCMT 43... SR 16-212 T-20/5
IHSR 160-800-19 6.299 31.496 1.575 5.118 CNMG 64.. SR 10402352 HW 4.0

e For user guide, see pages 549-566

() Cutting diameter minimum

(2 Cutting diameter maximum

For inserts, see pages: CCET-WF (532) « CCGT-AF (534) ® CCGT-AS (534) ® CCGW/CCMT (CBN) (533) ® CCMT (PCD) (533) ® CCMT-14 (531)
e CCMT-PF (531) ® CCMT-WG (532) * CCMT/CCGT (532)

o CCMT/CCGT-SM (531)

For holders, see pages: BHR MB (472) ® TCH AL (476) * TCHH EX (513)

ITSoOR=

IHCR i
Boring Toolholders for the MB WF
Modular Boring System |

o oom e Y

IHCR 28-38 1.102 1.496 484 .906 CCMT 2... SR 14-548 T-7/5
IHCR 36-50 1.398 1.968 583 1.260 CCMT 2... SR 14-548 T-7/5
IHCR 36-50-09 1.417 1.968 583 1.260 CCMT 3... SR 16-236 T-15/5
IHCR 50-68 1.968 2.677 736 1.575 CCMT 8... SR 16-236 T-15/5
IHCR 50-68-12 1.968 2.617 736 1.575 CCMT 43... SR 16-212 T-20/5
IHCR 68-90 2.677 3.543 854 2.126 CCMT 43... SR 16-212 T-20/5
IHCR 90-120 3.543 4724 1.051 2.776 CCMT 43... SR 16-212 T-20/5
IHCR 120-160 4.724 6.299 1.248 3.720 CCMT 43... SR 16-212 T-20/5
IHCR 160-800 6.299 31.496 1.248 5.118 CCMT 43... SR 16-212 T-20/5

® For user guide, see pages 549-566

() Cutting diameter minimum

(@ Cutting diameter maximum

For inserts, see pages: CCET-WF (532) ¢ CCGT-AF (534) ¢ CCGT-AS (534) ¢ CCGW/CCMT (CBN) (533) ® CCMT (PCD) (533) ® CCMT-14 (531) ® CCMT-PF (531)
CCMT-WG (632) « CCMT/CCGT (532) ® CCMT/CCGT-SM (531)

For holders, see pages: BHR MB (472) ¢ TCH AL (476) ® TCHH EX (513)

ISCAR




ITS50nRE

IHPR 1
75° Rough Boring Toolholders @ WF
1

LLJ
o
O
m
n
=

75°
OAL——

oo oo W o & }
IHPR 36-50 1.398 1.968 .591 1.260 SCMT 3... SR 16-236 T-15/5
IHPR 50-68 1.968 2.677 748 1.575 SCMT 3... SR 16-236 T-15/5
IHPR 68-90 2.677 3.543 .866 2.122 SCMT 43... SR 16-212 T-20/5
IHPR 90-120 3.543 4.724 1.063 2.776 SCMT 43... SR 16-212 T-20/5
IHPR 120-160 4724 6.299 1.260 3.720 SCMT 43... SR 16-212 T-20/5
IHPR 160-800 6.299 31.496 1.260 5.118 SCMT 43... SR 16-212 T-20/5
IHPR 160-800-19 6.299 31.496 1.575 5.079 SNMG 64..

e For user guide, see pages 549-566

(1) Cutting diameter minimum

(2) Cutting diameter maximum

For inserts, see pages: SCGT-AS (535) ® SCMT-14 (535) ¢ SCMT-19 (535) ¢ SCMT-SM (534)

For holders, see pages: BHR MB (472) ¢ TCH AL (476) ® TCHH EX (513)

ITSB0RE

IHBR -t

Rough Boring Toolholders @l\f

=
90°

S

le—— OAL——>

W - P »
IHBR 90-120 3.543 4.724 1.063 2.776 TCMT 2205... SR 16-212 T-20/5
IHBR 120-160 4.724 6.299 1.260 3.720 TCMT 2205... SR 16-212 T-20/5
IHBR 160-800 6.299 31.496 1.260 5.118 TCMT 2205... SR 16-212 T-20/5

® For user guide, see pages 549-566

() Cutting diameter minimum

(2 Cutting diameter maximum

For inserts, see pages: TCMT-19 (536) ® TCMT-SM (536)

For holders, see pages: BHR MB (472)  TCH AL (476) ® TCHH EX (513)

ITSB0RE JE—

|HSR CH BD PSIRR L‘\ r

, = '

Chamfering Tools for

BHR Boring Heads LF OAL DCN-DCX

DCN®  PSIRR LF OAL WF L BD DCX®  Insert & ?

IHSR 26-38 CH15 1.024 156.0 843 .906 492 .063 984 1.496 CCMT 2... SR 14-548 T-7/5
IHSR 26-38 CH30 1.024 30.0 787 .906 492 118 984 1.496 CCMT 2... SR 14-548 T-7/5
IHSR 26-38 CH45 1.024 45.0 .736 .906 492 169 984 1.496 CCMT 2... SR 14-548 T-7/5
IHSR 34.5-49 CH15 1.358 15.0 1.167 1.220 .591 .063 1.260 1.929 COMT 2. SR 14-548 T-7/5
IHSR 34.5-49 CH30 1.358 30.0 1.102 1.220 591 118 1.260 1.929 CCMT 2... SR 14-548 T-7/5
IHSR 34.5-49 CH45 1.358 45.0 1.061 1.220 .591 169 1.260 1.929 CCMT 2... SR 14-548 T-7/5
IHSR 46.5-66 CH15 1.831 15.0 1.441 1.5356 .748 .094 1.575 2.598 CCMT3.. SR 16-236 T-15/5
IHSR 46.5-66 CH30 1.831 30.0 1.354 1.535 .748 181 1.575 2.508 CCMT3... SR 16-236 T-15/5
IHSR 46.5-66 CH45 1.831 45.0 1.280 1.536 .748 .256 1.575 2.598 CCMT3... SR 16-236 T-15/5
IHSR 65-88 CH15 2.559 15.0 1.961 2.087 .866 126 1.968 3.465 CCMT 43... SR 16-212 T-20/5
IHSR 65-88 CH30 2.559 30.0 1.843 2.087 .866 244 1.968 3.465 CCMT 43... SR 16-212 T-20/5
IHSR 65-88 CH45 2.559 45.0 1.740 2.087 .866 .346 1.968 3.465 CCMT 43... SR 16-212 T-20/5

e For user guide, see pages 549-566

() Cutting diameter minimum

(2 Cutting diameter maximum

For inserts, see pages: CCET-WF (532) « CCGT-AF (534) ® CCGT-AS (534) ® CCMT-14 (531) « CCMT-PF (531) ® CCMT-WG (532) ® CCMT/CCGT (532) * CCMT/

CCGT-SM (531)

For holders, see pages: BHR MB (472)

Member IMC Group
(| I
L 4 111]




Ll_l ITSBGI'—IE * DMIN = ~<—— DMIN
BHR20-200 > BD = TCH 202-802

AEN IHSR-BW ‘ m

O Back Face Turning Tools for BHR ‘ i '

M and TCH AL Rough Boring Heads %' |;F L

907, | WE fwe

c|£ - OALI=pon-Dox

- sst BD@ LF WF OAL Insert DCN® DCX@
IHSR 20-24 BW BHR MB16-16 630 1.083 394 .630 CCMT 2... 787 .945
IHSR 23.5-30BW BHR MB20-20 787 1.280 433 .768 CCMT 2... 925 1.181
IHSR 29.5-40BW BHR MB25-25 984 1.535 571 .945 CCMT 2... 1.161 1575
IHSR 39-52 BW BHR MB32-32 1.260 1.968 .669 1.260 CCMT 3... 1.535 2.047
IHSR 51-70 BW BHR MB40-40 1.575 2.500 827 1.654 CCMT 43... 2.008 2.756
IHSR 69-92 BW BHR MB50-50 2.165 3.169 .965 2.244 CCMT 43.. 2,717 3.622
IHSR 91-122 BW BHR MB63-63 2.835 3.957 1122 2.992 CCMT 43... 3.583 4.803
IHSR 121-162 BW BHR MB80-80 3.740 4.350 1.240 3.976 CCMT 43... 4.764 6.378
IHSR 161-802 BW BHR MB80-80 3.740 4.350 1.240 4.803 CCMT 43... 6.339 31,575

* DMIN=(min bore diameter)=(DCN+BD+1)/2 e BD=Size of the boring head being used e For user guide, see pages 549-566

() Suitable boring heads

(@ Size of the boring head being used

@) Cutting diameter minimum

(@) Cutting diameter maximum

For inserts, see pages: CCET-WF (532) ¢ CCGT-AF (534) ¢ CCGT-AS (534) « CCGW/CCMT (CBN) (5633) ® CCMT (PCD) (533) ® CCMT-14 (531) ¢ CCMT-PF (531)
CCMT-WG (532) « CCMT/CCGT (532) ® CCMT/CCGT-SM (531)

For holders, see pages: BHR MB (472) « TCH AL (476) ® TCHH EX (513)

Spare Parts

N

IHSR 20-24 BW SR 14-548 T-7/5
IHSR 23.5-30BW SR 14-548 T-7/5
IHSR 29.5-40BW SR 14-548 T-7/5
IHSR 39-52 BW SR 16-236 T-15/5
IHSR 51-70 BW SR 16-212 T-20/5
IHSR 69-92 BW SR 16-212 T-20/5
IHSR 91-122 BW SR 16-212 T-20/5
IHSR 121-162 BW SR 16-212 T-20/5
IHSR 161-802 BW SR 16-212 T-20/5

ITS50RE

CR LNHT

Boring Cartridge with
Tangential Insert for BHR

MB50-50X100 Boring Head WF

DCN() DOX@ WF OAL MIID®)

CR LNHT10 68-90-CP 2.677 3.543 .909 2117 HTP LN.. 1006

e For user guide, see pages 549-566

() Cutting diameter minimum

(2 Cutting diameter maximum

() Master insert identification

For inserts, see pages: HTP LN.. 1006 (529)
For holders, see pages: BHR MB (472)

Spare Parts

e & v

SR 34-550 BLD T10/87 SW6-SD




ITSB0RE
CR SOMT
Boring Cartridge with Square

Insert for BHR MB50-
50X100 Boring Head

PN
-4

LLJ
o
O
m
n
=

DCN() DCX@ WF OAL MIID®
CR SOMTO09 68-90-CP 2.677 3.543 929 2.126 SO.T 09...

* For user guide, see pages 549-566

() Cutting diameter minimum

) Cutting diameter maximum

@) Master insert identification

For inserts, see pages: SOGX/T-AL (144) ¢ SOMT-DT (145) ® SOMT-GF (144) ¢ SOMT-HD (145)
For holders, see pages: BHR MB (472)

Spare Parts

—— & 7 /
SR 34-506 M3X0.5 SW4-SD BLD TO9/M7-SW4

l TSBGRE LF (assembly) 1400 pinch
"7 ADJRGR 80 pincti 'S80

BHCI MB Y 8 1 IHFF.C

Combi Rough and Fine T & | HRF.C

Boring Heads with .0004"

Direct Dia. Adjustment and DeENiS >
.00008" by a Vernier Scale l
FADJRGR

O
DCONMS LF DCN( DCX® ADJRGR RPMX® Lbs

BHCI MB25-25-57 .984 2.224 1.102 1.417 020 10000 50
BHCI MB32-32-71 1.260 2.795 1.417 1.811 020 10000 1.01
BHCI MB40-40-90 1.575 3.543 1.811 2.362 .040 8000 1.86
BHCI MB50-50-87 1.969 3.425 2.362 2.953 .040 8000 2.67
BHCI MB63-63-109 2.480 4.291 2.953 3.740 .080 6000 5.43
BHCI MB80-80-130 3.150 5.118 3.740 4724 .080 5000 9.72

* The roughing head precedes the finishing head by .008" e Each head can be adjusted independently e Insert radius for combi rough and fine boring must be the same

size.

(1) Cutting diameter minimum

(2 Cutting diameter maximum

@) Maximum RPM

For tools, see pages: [HFF-C (483) » IHRF-C (483) ® IHSR-C (483)

.0004
00008

DCN-DCX

e
Non.

— IHSR..C

BHCI MB...

Graduated dial of .0004" with
circular vernier of .00008"

Member IMC Group
L 4 111]




ITS50RE USER GUIDE

BHCI MB - Additional Information

L
o
O
m
n
=

IHFF 28-36 C  _ IHRF 28-36 C N
BHCI MB25-25-57 < P P
©21.102 ~ 1.417 %é' 8 8
- IHSR 28-36C  ° IHSR 28-36C  °
MB25 2.224
2.787
IHFF 36-46 C - IHRF 36-46C
= %
BHCI MB32-32-71 = @ §
21.417 ~ 1.811 o ~ <
Q <~ 6
= IHSR 36-46 C
IHSR 36-46 C 2795
MB32
3535 3535
IHFF 46-60 C " IHRF 46-60 C
s s
BHCI MB40-40-90 0 e @
©1.811 ~ 2.362 2 has =
5 HE: & &
| B e
MB40 IHSR 46-60 C IHSR 46-60 C
IHFF 60-75 C IHRF 60-75 C
2 2
BHCI MB50-50-87 § 2 S/ g
02.362 ~ 2.953 z & &
™ 5]
R R
| ] , ]
MB50 IHSR 60-75 C IHSR 60-75 C
2 IHFF 75-95 C IHRF 75-05 C
: g o g
BHCI MB63-63-109 E g
(012953 ~ 3.740 & 3
) Y
(&l Q
IHSR 75-95 C IHSR 75-95 C
5.11 ‘ 5.11
3.957
2 IHFF 95-120 C IHRF 95-120 C
. 0
<
N R
BHCI MB80-80-130 53 5 3
3.740 ~ 4.724 3 L g g
N~ (8]
) Q
Q
i IHSR 95-120 C 5118 IHSRE6-120C

ISCAR




ITS50nRE _ LL]
}
IHRF-C W oC
Boring Tools for Twin Cutters L R O
Positioned on the Inner side of ‘\
the Opposite Finishing Tool on o0 CD
MB BHC Combi Boring Heads
OAL C|L)

we P ) 4

IHRF 28-36 C 1.102 1.417 .386 .945 CCGT 2... SR 14-548 T-7/5

IHRF 36-46 C 1.417 1.811 445 1.181 CCGT 2... SR 14-548 T-7/5

IHRF 46-60 C 1.811 2.362 .543 1.575 CCGT 8... SR 16-236 T-15/5

IHRF 60-75 C 2.362 2.953 .740 2.126 CCGT 3... SR 16-236 T-15/5

IHRF 75-95 C 2.953 3.740 957 2677 CCGT 8... SR 16-236 T-15/5

IHRF 95-120 C 3.740 4.724 1.154 3.425 CCGT 3... SR 16-236 T-15/5

e For user guide, see pages 549-566

() Cutting diameter minimum

() Cutting diameter maximum

For inserts, see pages: CCGT-AS (534) » CCGW/CCMT (CBN) (533) ® CCMT (PCD) (533) ¢ CCMT-14 (531) ¢ CCMT-PF (531) « CCMT-WG (532) ¢ CCMT/CCGT (532) *
CCMT/CCGT-SM (5631)

For holders, see pages: BHCI MB (481)

ITSB0nRE

IHFF-C [ 55 V\tF

Triangular Finishing Insert Holders v

for BHCI Combi Boring Heads (

91°
le———OAL——!

Y N
IHFF 28-36 C .386 945 1.102 1.417 TPGX 78... SR 14-298 T-8/5
IHFF 36-46 C 445 1.181 1417 1.811 TPGX 78... SR 14-298 T-8/5
IHFF 46-60 C 543 1.575 1.811 2.362 TPGX 22... SR-17979 M3X8 T-8/5
IHFF 60-75 C .740 2126 2.362 2.953 TPGX 22... SR-17979 M3X8 T-8/5
IHFF 75-95 C 996 2.677 2.953 3.740 TPGX 22... SR-17979 M3X8 T-8/5
IHFF 95-120 C 1.154 3.425 3.740 4724 TPGX 22... SR-17979 M3X8 T-8/5

® For user guide, see pages 549-566

() Cutting diameter minimum

() Cutting diameter maximum

For inserts, see pages: TPGX (537) ¢ TPGX (CBN) (537)

For holders, see pages: BHCI MB (481)

ITSB0RE —

IHSR-C WF

Rhombic Roughing Insert Holders

for BHCI Combi Boring Heads T

90°
OAL

Y R
IHSR 28-36 C 1.102 1.417 394 .945 CCMT 2... SR 14-548 T-7/5
IHSR 36-46 C 1417 1.811 453 1.181 CCMT 2... SR 14-548 T-7/5
IHSR 46-60 C 1.811 2.362 551 18 CCMT 8... SR 16-236 T-15/5
IHSR 60-75 C 2.362 2.953 748 2.126 CCMT ... SR 16-236 T-15/5
IHSR 75-95 C 2.953 3.740 965 2.677 CCMT 3... SR 16-236 T-15/5
IHSR 95-120 C 3.740 4724 1.161 3.425 CCMT ... SR 16-236 T-15/5

e For user guide, see pages 549-566

() Cutting diameter minimum

(@ Cutting diameter maximum

For inserts, see pages: CCET-WF (532) ¢ CCGT-AF (534) e CCGT-AS (534) ¢ CCGW/CCMT (CBN) (533) ® CCGW/CCMW-2 (CBN) () ® CCMT (PCD) (533) ® CCMT-14
(5631) ® CCMT-PF (531) ® CCMT-WG (532) ® CCMT/CCGT (532) ® CCMT/CCGT-SM (531)

For holders, see pages: BHCI MB (481)

Member IMC Group
(| I
L 4 111]




I | I ITSBGF_IE LF (assembly)
IHWF E IHFE®  ae 80 yinch
A% BHD MB AR IHRF GH IHRF BW 580
O Fine Boring Heads with Digital P ‘ 1‘5 .
m .0001" Direct Adjustment DCONMS DCONWS DCN-DCX Only for BHD
; ‘e Di ‘ Rl MB50, MB63, MBS0
Diametric Display SR -

LF DCONMS DCN() DCX@ LPR ADJRGR  DCONWS  RPMX® &

BHD MB32-32-83 3.268 1.260 1.378 2.008 2.815 118 o 20000 89
BHD MB40-40-90 3.543 1.575 1.890 2.520 2.992 157 - 20000 1.61
BHD MB50-50-60 3.150 1.968 .098 4331 2.402 197 630 20000 243
BHD MB63-63-89 3.484 2.480 236 4.921 2.736 197 - 20000 4.85
BHD MB80-80-104 4.094 3.150 .236 7.874 3.327 197 > 20000 8.60

e For user guide, see pages 549-566 ¢ For spare parts, see page 508-509

* Note that a protruding reset button dictates the enlargement of the actual DCONMS by .079" in each size respectively. This is important when the tool is being used for
back-boring applications where you must clear any obstacles inside the machine/workpiece.

M) Cutting diameter minimum

(2 Cutting diameter maximum

@) Maximum RPM

For tools, see pages: IHAXF (505) ¢ IHAXF-AVI (507)  IHAXF-E (507) ® IHFF (509) ¢ IHRF (509) ¢ IHRF-BW (513) ® IHRF-CH (514)  IHWF (510)

ISCAR




ITS50RE

BHD MB - Additional Information

ITS BORE

N 2.874 3.268
3
Q ° @ ‘(j ol TR § o)
BHD MB32-32-83 8 ) 8 £1g 3 | 2
21.378 ~ 2.008 5 N % 5l = Q © -
® £ fm e 2
& £ = ]
2 S Vs S i
MB32 IHRF 32 Q S
IHRF 38.5-51.5BW  IHRF 32 CH15 35-53 | IHRF 32 CH45 36-50
IHFF 32 IHRF 32 CH30 35-53
3.071 3.543
N
i ._V B 2 —
BHD MB40-40-90 2 - 8 e 8
21.890 ~ 2.520 = N e () al® ) N
S = Q| 8| 3 i N
= £ im S 3 = ~
| Q5 )
MBA40 IHRF 40  IHFF 40 IHRF 40 CH45 48-66
IHRF 50.5-65BW  IHRF 40 CH15 48-66  IHRF 40 CH30 48-66

Member IMC Group
(| I
L 4 111]




400 pinct
80 pinct

w
Q
=)
S
m ¥87'6-502°20 80V 7-681 60
(79
& 208-9S JdHI
> 2 5 e 208-95 JaHi
@ 5% ® §2Xv¢ Hang
[a) TN
w o M ®, 9
> 7 < N [ o === SN S | SN -
g gt e S
@ T o 6 -G08 20 OL LNN He
98E°€-LV0'20 04818080
€/1'7-G8820 oSl=e
68160810 oGi=¢ SI6675990 o5=s
91/06-22 AXVHI 02T LIV IO c66¢869'10 087F 61800520 oSv=e
W +811-998'0 281201 10 GE8'C-9LS LD Sv=E 505 3
28 J9HI ™
- 91/22-81 AXVHI O S 05 JdHi >
™ - 998600 | G2 JaHI
™ 28 33HI
. 91L/81-9L dXVHI v/ o ®
3 6020890 < o G2 44HI S §/Xvg Hang
0 v o) o
» ovoL-yl axvhly  f A4 oo ot 0 _
o @. 029~ 155D S0L-91d Hag ] i _ —f_
Q 9L/L-2L dXYHI 0/E%-1%0'20 OFLNN HY
o NS 15520
© © N\ [ — . . .
% No 9L/SL-LL JXVHI S0CC-LIv +0 1ES V-G 160
o 3 claeero 7 L1201 10
0 N I \4 0G J44dHI
i 23 OWEL-OL XVHII 28 39HI
3 2% @ o el 52 4o 9BEE 2D 05 43H
m © 9L/0L-9 IXVHI| [4EEL] T 2eMO
s -2 f veccleo| | W =
OO ® o G/XyZ HAHG
[a) NN 91/8-9 dXVHI| R
T -S4 Sre8600| i G I
- TIN
@ ] L& %
I8L'L-8600 \\\\w\\ wl - B
S sozzeorio R = Or INN Ha
(V]

LEE'V-9¢1'CO

BHD MB - Additional Information

W ITssorR=
ISCAR




3d0d Sl

80 pinch

w
Q
=)
(O]
o
L
%)
S

91/0€-¢¢_AXVHI
18171-998'0

91/22-8L dXVHI
998'-60L'Q

B

91/81-91 AXVHI
60.-0€9'Q

T

4.134

9L/9L-vI AXVHI

@ 0€9™-199°'0

9l/VE-¢b dXVHI
LGS-CLV'D

g v
R o
ol ©
mw - r 2Ly 16E D

<

9L/EL-LL dXVHI

S0c'c-Lyv1'L@
ceL oL LD

G¢ 44HI
G0L-91d HHE

S0¢'¢c-LIv' 1@

clg-eev'd
91/21-01L dXVHI

91/0L-8 dXVHI
Y6e-GLE'QD
91/8-9 JXVHI
Gle-98C'0

BHD MB63-63X89 2.236-4.921

BHD MB - Additional Information

ITS50nRE

ceL L-c0L L@

€16'¢-9¢t'ca

105 4gHI-

E 08 44HI

6Yy V2120
257025 <0
v607-29E 20
186'€-502 20
HO 05 JdH

oGl=e
o0¢
oSP=€

=€

~= 000'G-LIL¢cd

3.484

LEEV-9E8'¢O

0S 44HI

€16'¢-9.5'1Q H A

860'G-901'€d

M8 208-9G JdHI

08X8¢ H3Hg

000'G-89¢'€Q

€087~ 10D oSl=E

M9 V-€16'¢d 0E=E

88Y'17-89.'¢ oSY=E
© 30 06 44gHI

08X8¢ H3Hg
8
® ,

12679880
0G J4HI
0G 44HI
€ MO
@) 08X8¢ H3Ha

I

4.331!
%
@

126'7-568'cO

Member IMC Group

(T [ Tall 487




L
Q
)
(O]
o
|
7}
S5

ITS50RE

BHD MB - Additional Information

80 pinch

BHD MB80-80X104 2.236-7.874

91/08-¢¢ dXVHI
18171-998'0

B 91/¢2-8L dXVHI

998'-60L'Q

S0CC-LIV' 1D
ceL -coL IO

r— 4173

91/81-9k IXVHI ]
60,0590 | < §
9L/9L-pL AxvHI| 2 S0L-9HQ HHd
089-1550| ™
OL/vL-gh dXVHI
~ T cozv0
S v toseLvo G0C LIV IO
N 9L/EL-LL dXVHI
IR & ZIG-6Ev'0 2L 1201 1O
N N o

a8 91/2L-0k dXVHI 2€ 34Ai

25— 21650
Q5 4 v ) G¢ JaHI

-2 91/0L-8 AXVHI

22 N 768 -G1E0 o §
20 91/8-9 JXVHI mﬂ
F & w G18-9220 | €G-91d Had
Y : 08%8z HIHg
j = )
\\\\\ —| = L SR — [ —
181°1-9€2°C m._

G02'2-20L’ 1O

€v3'€-9¢1'ca

—0Sd4H!

W_m_ ¢€ 44H!

ev5'e-G.9° LD w a

GEE'G-¥81'€D
Md ¢08-9G 4dHI

i /]

g CL6’L-V8V'EQ

96259V €0
650G-051 €0 oGI=8
288726630 o0E=®
Vv vv98C0 oSv=e
HO 0S J4Hi

~-p18-0ve'e0

161'G-G9Y' €0

0G 44HI

0G 44HI

E .
- .8 L-GOV'ED

¢.l6'/-¢ct' 90 8V IX8C HIHG

86€'9-LvSv 801X8C HIHG
M8 208-99 4dHI

119'/-/8L'S0 oSl=e
0¢G'.-089'S@ 08=E
29€'L-¢lV'SD oSv=e

[(662'9-60F' 0 801%82 HAHG
c0L'9-elevd oSl=e
G26'S-9E0'vQD 0E=E
/8/'G-868'€0d oSv=E

HO 08 JdHI

© 2EMD
“H3Hg
O
T

— R TRV -
¥/8'/-¢01'9Q0 8YX8¢ HAHG
00€'9-8¢5'v@ 801x8¢ HAHG

0S 44HI

[ 0GddHi

¢EMO

n: ""H3HgG

\ey/
-

@)

ISCAR



ITS50RE - LF (assembly) HRE  IHRF BW PICCO ACE BH . | I I
IHWF E 1400 pinch
BHEI MB e Lpr~] | HFFE IHRF CH| BHEH 80 int] /580 m
Fine Boring Head for the ADJRGR W ’
MB Boring System 0004" }7\ il oo BRI oee? @
Direct Dia. Adjustment and | 28" [ st B ¥ CD
.. : DCONMS Sieerki— H——C¥ DCONWS
.00008" by a Vernier Scale o145 o185 W]
' < <= |IHAXF ; )
WT DCN-DCX Ll - PICCO ACE BH |
DCONMS LF DCN() DCX@ LPR ADJRGR  DCONWS  RPMX® &
BHEI MB14-14-30 b1 1.181 571 .709 .866 .039 - 12000 22
BHEI MB16-16-34 630 1.339 709 945 1.024 059 - 12000 Bl
BHEI MB20-20-40 787 1.575 .866 1.181 1.240 .098 - 12000 .28
BHEI MB25-25-50 .984 1.969 1.102 1.575 1.575 118 = 10000 46
BHEI MB32-32-63 1.260 2480 1.378 2.087 2.028 157 - 10000 92
BHEI MB40-40-80 1.575 3.150 1.890 2.598 2.598 197 - 8000 1.76
BHEI MB50-50-80 1.969 3.150 .098 4.331 2.402 197 .630 8000 2.21
BHEI MB63-63-89 2480 3.504 .236 4.921 2.736 394 - 6000 7.06
BHEI MB80-80-104 3.150 4.094 .236 7.874 3.346 472 - 5000 7.06

® For spare parts, see pages 508-509, 545

() Cutting diameter minimum

() Cutting diameter maximum

@3 Maximum RPM

For tools, see pages: IHAXF (505) o IHAXF-AVI (507) o IHAXF-E (507) * IHFF (509) ¢ IHRF (509) » IHRF-BW (513) o IHRF-CH (514) * IHWF (510)

Graduated dial of .0004" with
circular vernier of .00008"

Diameter Range for BHEI MB

2,5

BHEI MB50-50X60 H
BHEI MB14-14X30
BHEI MB16-16X34 :
BHEI MB20-20X40 . 118 |
BHEI MB25-25X50 1.10-158
BHEI MB32-32X63 |
BHEI MB40-40X80 |
BHEI MB50-50X80

BHEI MB63-63X89

P T
BHEI MB32-35X53 H . - [T ]
|
[
]
|
|

1.38~2.09
1.89~2.60

10~4.33
24~4.92

BHEI MB80-80X104

Member IMC Group

(T [Tall 489



L
o
O
m
n
=

ITS50RE

BHEI MB - Additional Information

USER GUIDE

866
BHEI MB14-14-30 2
@.571 ~ .709 S
2
&
1.339 .
1.024 3 S
BHEI MB16-16-34 o § ) S
2.709 ~ .945 é E
Q

in=

BHEI MB20-20-40

=(01+0.827):2
Q.787
—
Mo
o1
©.965-1.299

?.866 ~ 1.181 w@j% 5
S E £
MB20  IHRF20 $ Q  |HRF 24.5-32BW
1.969 « 1.634
5 N <= 8
BHEI MB25-25-50 o 5 5 g 8
21.102 ~ 1.575 - £ & g
§ Q IHRF 31.5-41.5BW IHRF 25 CH15 28-38 IHRF 25 CH45 28-38 §
IHFF25 = o IHRF 25 CH30 28-38
IHRF 25
2.48 2.087
N
o
Q= s 3
T g P 3
BHEI MB32-32-63 _ N 8 3 S| & 2
0 =
21.378 ~ 2.087 g 8 £ 5 ] ©
5 & IHRF 32 CH15 35-563|  |HRF 32 CH45 36-50
MB32 IHEF 32 g IHRF 38.5-51.5BW — IHRF 32 CH30 35-53
IHRF 32

BHEI MB40-40-80
21.890 ~ 2.598

©1.575

1.890-2.598

(©1+1.614):2

@min=

©1.988-2.638

@,
N

)

7
/
Of
'

IHRF 40 CH45 48-6F

@1.752-2.579

ISCAR



80 pinch

400 pinch

USER GUIDE

BHEI MB50-50-80 2.098-4.469

BHEI MB - Additional Information

|

i
S
$
L]

91/08-¢¢ 4XVHI
181'1-998'0

B

94/cc-8L AXVHI
998™-60L°0

<

91/8L-9L AXVHI
60.-089'0

<

9L/9L-¥IL IXVHI
089-155°0

2.677
2.48
1.969
1.969
1.654

1.575

<

9L/PL-gL dXVHI
[EERIAA0)

9L/EL-LL dXVHI
clLg-eer'o

91/2L-0L dXVHI

.

¢Ly-v6E8°0

91/01-9 dXVHI

S0CC- LIy LD

ceL’-c0L' LD

<€ ddHI
EEEEL]]

5B

4134

! 28 43HI
F4EEL]]

SoL-91d Hag

9cL'eLivia

¥S9'1-c0L' LD

Sle-9ec’0

8/9-y dXVHI
96¢-/S1'0

¥6€-S1E'0
91/8-9 dXVHI
o
=
I
&
to)

8/7-G'¢_JIXVHI

prrzz2
kxyiza
SLEEVE D8-D16

€ JgHI
G¢ ddHl

2.48

2.402

[4EEL]]
Sc 44HI

£€5-91d Hag

¥8Y'€-50¢'¢d

M8 208-95 JdHI

98€'€-LV0'2@

681°6-0/8'L@ oSL=0
266'C-€69' LD 08=0

SE8'CILG LD oSY=P

HO- 0S 44HI

98€'6-9¢1'c@
0S 4dHI

69Y'7-681°€Q)|
M8 208-95 ddHI

G/Xy¢ H3Hd

OF 1NN HE

0LE'7-1€0°€D

€L1'7-6e8'2Q oSHP

9/6'€-.59'¢@ 0€=0

N

|

I'3.701

618'€-00520 oSY=P

HO 0S d4aHI

G/Xy¢ H3HG

Ok INN HE

Lee'v-051'e0
08 44HI

08 43HI

2EMO

G/Xyg H3HG

1

OF 1NN HE

Member IMC Group




400 pinch
80 pinch

860'G-907'€0

Mg ¢08-95 JdHI

08x8¢ HIHG

825 v-v98'cd

M3 208-9G 4dHI

3.681

000'5-89¢'€Q

§087-1.0E0 SH=D
S0C LIV IO — —
99 V-EI6CO 08D
> 9L/0E-22 XVHI ceLeorio 675D 7 L1120 887 5-05.°20 oGh=D
S W 181 1-098'0 € 35 T 0955 5 =505 i
> 91/22-81 AXVHI SEtEal T = X
ey C o e T Y607 2980 06| L 08¥82 HIHE
% 91/81-01 JXHI 1€6'6-G0C 20 oGr=" m# v
T - ) @ 1
(3] & 600890 | S0r-91a Had HO 0% 3dHI | < &
Q 9L/9L-Ph SXVHI| 05" HI
o 0€9- 1550 HIHSYM Hg
9l/v-gl dXvHI| | = I P 126'7-988'€0
% ! & 1562l D S0Z LIV IO | T 0 JaHl | 05 3aHi
5 9L/EL-LL AXVHI e = |
© @ o) c Sloo5r'D 2L 120110 05 33Hi
@ N g 94L/2H-0b 4XVHI o€ JaHI S RETIT ]
% -8 g IV I6ED 52 35H lsevsesco| | 08X8¢ HIHg
-8 91/0L-8 IXVHI ©
©
s -g! N V665180 # 2 e 05 45
- - J 0 ®
i - g N 91/8-9 IXVHI| ssolarEe| | o 3 ']
H 118 GIE-0eC D 3 -
T . ) 08%gc Harg | | 2 by =—
m 08X8¢ HIHgG p 8/X€0 Hag 0S44HI| &
N © \ﬁ U ﬂﬂ % K i 072000 woN
2| 9| ® ¥ | e 100 i~
= = e 050 O
R N e — M 007 % €9 3HE
] 5 ! N | g2000 won
& 02000 WoN Q| @200 wn P | @100~
100 - o 0 10°0 i~ @50 ©
Soai F . i ="

Fine Boring Head Range

|

i
S
“”
&

ISCAR




400 pinch
80 pinch

L
Q
)
G
o
L
o)

2.677

BHEI MB80-80-104 2.236-7.972

v

|

m cLS-eer'o
‘@ ¢Ly-v6E'0
ﬂ ¥6€ -5’0

181'1-998'0
602-0€9'0

4.134

S0¢'¢c-9.9' L@

3.858

ev5'€-9¢t ¢

I
U™ -6G faHi

E ¢€ 44Hl

¢€ 44HI
2g 44HI

f~— 3.543

Fine Boring Head Range

ITS50RE

Trf_“_

—3.327

GEE'S-18Y' €0
M8 208-99 JdHI

3.425

9T GOVESD
6E0'G-05HE0 o5H=D
288726630 o0E=D
VWLV Y5820 oGr=
HO 0 JaHI

4.094

161'G-99V'CQ

0G 44HI

’4—4.094
2o
&3
)

¢l6'/,-¢cl’90  8YIX8¢ HAHYG

86€'9-LvS'v@ 80+X8¢ HIHA
M8 ¢08-9G JdHI

[ T

¥/8'.-¥86'G0 8 IX8¢ HIHG

119°2-182'S@ oSI=P

025'2-089'5Q -0E=P

29€'L-CLY'SD oSv=P

66¢'9-60v'¥@ 801X8¢ HIHA
c0L'9Ele v o5L=P
G26'S-SE0 VD 0E=P
/8/'G-868'€0 oSv=0

¥/8°/.-¢01L'90 8 1X8¢ HIHG

662'9-8¢S'¥@ 80X8¢ HIHG
0G 4dHI
08 44HI
2EMO
87 1x8¢ HIHg

Member IMC Group

Y [Fall 493




L
o
O
m
n
=

ITS50RE
BHEI-MB-H
Fine Boring Heads for High
Rotation Speed with .0004"

Direct Dia. Adjustment and
.00008" by a Vernier Scale

BHEI MB32-32-53 H
BHEI MB50-50-60 H

1400 pinch
abrer 80 pinch ﬂ@_gﬁg
ADJRGR .
DCONMS J&{ ——t1 E
l— ™~ |PICCO ACE BH

LPR DCN® DCX@ DCONWS ADJRGR RPMX® %
1.260 2.087 098 472 315 1180 12000 87
1,969 2.362 236 866 630 1570 12000 224

() Cutting diameter minimum
@ Cutting diameter maximum
) Maximum RPM

For tools, see pages: [HAXF (505) ¢ IHAXF-AVI (507) ¢ IHAXF-E (507)

ISCAR




ITSB0RE LL]

LPR—» Only for BHFI MB50-50X68 BL 804ineh || f5 80 0
BHFI MB-BL WRGR DCONWSHe PICCO ACE BH L
Fine Boring Heads with . A I _ O
a Balancing Mechanism T £ 0002 H T = 1le
and .00008" Direct DCONMS E § @+ 80| g é:?:} M
Diametric Adjustment 5 ¥ |DoN-Dex | L] LS

IHAXF C|£

DCONMS BD LPR DCN( DCX® DCONWS  ADJRGR  RPMX® %

BHFI MB50-50X68 BL 1.969 1.969 2.700 236 866 630 157 8000 2.52

() Cutting diameter minimum

(2 Cutting diameter maximum

@) Maximum RPM

For tools, see pages: IHAXF (505)

Balancing Weights W1 & W2

BHFI MB50-50X68 BL, with the simple positioning of the two
counterweights into the graduated groove.

The table below displays all tools available for the

working range of .098-.787" diameters.

Balancing Data for Various BHFI...MB...BL Boring Combinations

@ SKB 40-MB50 BTB 40 MB50 HSK 63 MB50

BORE w1 w2 W1 W2 W1 W2

.2362 43° 315° 46° 346° 46° 346°

.2559 63° 326° 44° 326° 59° 336°

IHAXF 6- 8/16 2756 82° 306° 67° 304° 93° 328°
.2953 30° 205° 62° 265° 5.5° 163°

3150 124° 242° 126° 268° 92° 219°

3150 42° 312° 36° 336° 48° 348°

.3346 52° 328° 39° 339° 75° 330°

IHAXF 8-10/16 .3543 68° 318° 51° 317° 112° 331°
.3740 104° 283° 78° 268° 56° 212°

.3937 110° 270° 156° 200° 118° 222°

.3937 35° 336° 30° 330° 44° 344°

4134 44° 321° 32° 332° 45° 345°

IHAXF 10-12/16 4331 56° 307° 35° 312° 7° 325°
4528 153° 328° 21° 223° 327° 121°

4724 139° 297° 171° 333° 84° 234°

4724 30° 330° 26° 326° 40° 340°

4921 32° 332° 28° 328° 48° 334°

IHAXF 12-14/16 5118 64° 281° 40° 280° 80° 304°
5315 38° 236° 42° 261° 38° 208°

5512 138° 263° 177° 300° 114° 236°

5512 22° 324° 18° 318° 39° 339°

5709 30° 330° 16° 316° 57° 357°

IHAXF 14-16/16 .5906 3r° 257° 22° 266° 54° 302°
6102 184° 340° 35° 270° 130° 297°

.6299 160° 263° 172° 277° 138° 251°

6299 26° 326° 24° 324° 58° 358°

6496 36° 303° 14° 313° 3r° 319°

IHAXF 16-18/16 6693 3r° 276° 27° 292° 56° 212°
6890 151° 287° 187° 324° 128° 288°

.7087 160° 279° 189° 304° 140° 243°

.7087 10° 310° 6° 306° 28° 328°

.7283 29° 328° 0° 300° 17° 313°

.7480 200° 317° 230° 332° 26° 269°

7677 190° 295° 208° 307° 169° 308°

IHAXF 18-22/16 7874 180° 242° 188° 249° 174° 234°
8071 179° 240° 186° 247° 168° 228°

.8268 176° 236° 174° 236° 169° 229°

8465 190° 262° 141° 202° 170° 230°

.8661 180° 240° 170° 230° 176° 236°

Member IMC Group
(| I
L 4 111]




ITSB0RE USER GUIDE

Fine Boring Heads With Balancing Rings

BHFI MB50-32x60 BL 2.10-.47 80 pinch

L
o
O
m
n
=

2.36 1.42 n Body

1o ) Tool siide
a Expanding Pin

A [ Graduated Dial
a Slide Locking Screw
6 Coolant Nozzle

Boring Bar Locking
Screws

.83

!
1
i

i\'} Y o o g B Balancing Rings
BHF MB50-32x60 BL ol 3 3 5 P 2 E 5 E
¢ § = § 3 § 5 § ] §
A See page 560
BHFI MB50-50x68 BL @.24-.87 80 pinch
2.70 2.48 n Body

B ool siide

1.97

a Expanding Pin

A a Graduated Dial

B Slide Locking
Screw

B Coolant Nozzle

d
!

!

|

Boring Bar
Locking Screws

© © © © © e .
© § 5 5 5 5 3 B Oiling Nipple
3N P S SR & S -
e 8 & 5 % 8 % 2 % C & 8 L g Balancing Rings
IRl 8T Sl 8 8 &I

A See page 560

ISCAR




D S0 S
ITS50RE ® 0 "FI_(E;SRSTE'V) Only for BHFI MB50-50X60 | 80 hinch ,F LLI
BHFI MB16-MB50 ey as
Fine Boring Heads with .00008" I L PICCO ACE BH O
Direct Diametric Adjustment @] T
DCN-DCX CD
| N
| =
DCONMS  BD LF DCN®  DCX?  LPR  ADJRGR DCONWS Fig. IH  RPMX® =
BHFI MB16-16X34 RV 630 .630 1.339 .709 .906 1.024 .040 = 1. IH.. 16.. 12000 27
BHFI MB20-20X40 RV 787 787 1.575 866 1.142 1.240 080 - 1. IH.. 20.. 12000 .30
BHFI MB25-25X50 984 .984 1.968 1.102 1.496 1.575 .080 - 1. IH.. 25.. 10000 58]
BHFI MB32-32X63 1.260 1.260 2.480 1.398 1.968 2.078 120 = 1. H.. 32.. 10000 .88
BHFI MB40-40X80 1.575 1.575 3.150 1.890 2480 2.600 160 - 1. [H.. 40.. 8000 1.86
BHFI MB50-50X60 1.969 1.969 3.110 236 4.252 2.362 160 630 2. IH.. 50.. 8000 2.77

® For user guide, see pages 549-566 e For spare parts, see page 544

() Cutting diameter minimum

(@) Cutting diameter maximum

3 Maximum RPM

For tools, see pages: IHAXF (505) ® IHAXF-AVI (507) e IHAXF-E (507) ® IHFF (509) ¢ IHRF (509) ¢ IHRF-BW (513) ¢ IHRF-CH (514)

Member IMC Group
(| I
L 4 111]




ITSB0RE USER GUIDE

BHFI Fine Boring Heads high precision machining to a close tolerance with high surface quality.
These heads enable a fine diametric adjustment as small as 80 pinch with a direct reading.

BHFI MB16-MB40 Diameter Range: .709-2.48

r— 1.339*7
7

LL
oC
O
0
)
=

.709-.906
BHFI MB16-16X34 RV

s
IHRF 16

@.709-.906

BHF MB16-16x34

F; 1 .575ﬂ
16

0.866-1.142
BHFI MB20-20X40 RV

T
IHRF 20

0.866-1.142

BHF MB20-20x40

1.9694>‘

©
@
=
4|0
Sl
i
~| =
ol T

21.102-1.496
BHFI MB25-25x50

©1.102-1.496

01.398-1.969
IHFF 32

21.398-1.969
BHFI MB32-32x63

5

)
©1.398-1.969
IHRF 32

TBHF MB32-32x63

‘4; 3.15

©
A
o
1=
2
@
Q

IHFF 40

21.890-2.48
BHFI MB40-40x80

@1.890-2.48
IHRF 40

T BHF MB40-40x80

ISCAR




ITSB0hiE USER GUIDE LLI
o
O
Fine Boring Head Diameter Range .10-35.40" :::;r::x 0
0 5 1 15 2 25 3 35 4 45 5 55 6 65 7 75 8 20 Page C|L)
BHFI MB50-32X60 BL 10- 495 —
BHFI MB50-50X68 BL 24 495
BHFI MB16-16x34 - 497
BHFI MB20-20x40 A, 495
BHFI MB25-25x50 1.10-1.50 495
BHFI MB32-32x63 140-1.97 495
BHFI MB40-40x80 189-2.48 495
BHFI MB50-50x60 495
BHFI MB50-63x87 501
BHFI MB63-63x87 501
BHFI MB50-80x94 501
BHFI MB80-80x94 501
BHFI MB80-125x114 1.42-19.69 501
6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42
et | 511
11811575 511
511
511
23.60-27.5 511
511
31.50-35.40 511

Note: TCH AL should be used with BHFI L8.000 or with BHD 50 L200 for fine boring applications.

BHFI Fine Boring Heads

High precision machining to a close tolerance with high surface quality.
These heads enable a fine diametric adjustment as small as .00008” with a direct reading.

Member IMC Group

(T [Tall 499



80 pinch

L
Q
)
(O]
o
|
7}
S5

BHFI MB50-50x60 2.098-4.252

ITSB0RE
Fine Boring Head Range
80 pinch Direct Diametric Adjustment

L
o
O
m
n
=

91/08-22 4XVHI
, 181 1-098'0

w 91/¢¢-81 dXVHI
998'-60L'Q

g

91/81-91 dXVHI
[ 602-089'Q

g

9L/9L-¥1 dXVHI
0€9'-165°Q

9

9L/vl-cl dXVHI
LGS -V’

2.677

2.48
1.969

S

g

9L/gl-1L dXVHI
clg-eer'o

91/21-0L dXvHI

, CLy'-v6E'd
91/01-8 dXVHI
¥6e-G1e'd

91/8-9 JXVHI
GLE-98C'0

8/9-v dXVHI
98¢ -LG1°0

4

q

8/¥-G'¢ JXVHI
/G1'-860'0

SLEEVE D8-D16

4134

2.48

o
6‘%\
«©
[

9CL'ec LIV IO
Y99 L-c0L' 1@

¢€ 4dHI
G¢ 4dH!

¢g 44HI
G¢ 44H!

G0+-91a Had

Gevr'€-90¢'co
M4 ¢08-99 4dHI

048'7-S0¢ ¢

20€°¢-Lv0'cd

0€1'6-048"1Q
€66'¢-669' 10
G18'¢-SeS° 10

oSlL=€

08=€
ogv=e

HO 0S 4dHI

162727020
ARG
7 vG9' 120t 1D
W 26 JaHI
, 2 gl 10£€-921 20
€ 43I

ul

9¢l'¢-cot

G¢ 44HI

€9-91ad Hda

0G 44HI

0G 44HI

T 2Sev-92hTo
OFINNHg

2.992

0LE'v-68L'€0
M4 2¢08-9G 4dHI

G/Xy¢ HAHG

‘0_, 1NN HA

L6¢ V- 1€0°€D

oSlL=€

ﬁ 760 7-G58°20
7 868°6-/59¢0

08=€

0v.€-00S¢d

oSY=€

HO 0S 4dHI

Ol 1NN H4

¢Sc'v-0S1'c0

0G 4dH|

0G 44HI

2EMO

3.661

§/xy¢ H3Hg

OF 1NN Hg

A See page 560

ISCAR



ITS50nRE

BHFI MB50-MB80
Fine Boring Heads with .00008"
Direct Diametric Adjustment

BHFI MB50-63X87 (1) 1.969
BHFI MB50-80X94 (2 1.969
BHFI MB63-63X87 (1 2.480
BHFI MB80-80X94 (2 3.150
BHFI MB80-125X114 © 3.150

() Use with slide BHFH 30X75 or BHFH 30X93.

@ Use with slide BHFH 30X93 or BHFH 30X135.

() Use with slide BHFH 40X...
) Cutting diameter minimum
(8) Cutting diameter maximum
(6) Maximum RPM

= LF (assembly)>
~LPR =5 80 pinch
PICCO ACE BH
T ? DCN-DCX
BD DCONMS
ADBH
BD LF DCN® DCX® LPR ADJRGR RPMX®) &
2.480 3.425 .098 4.921 1.929 .200 8000 3.00
3.150 3.700 .098 6.299 2.283 200 8000 4.90
2.480 3.425 .098 4.921 1.929 .200 6000 3.67
3.150 3.700 .098 6.299 2.283 .200 5000 6.06
4.921 4.488 1.417 19.685 2.480 .200 4000 12.91
-HD we g
.--'.I

LLJ
o
O
m
n
=




L
o
O
m
n
=

DUNE

ITS5

Fine Boring Head Range

80 pinch Direct Diametric Adjustment

USER GUIDE

BHFI MB50-63x60 ©.098-6.299
BHFI MB63-63x87 ©.098-6.299

80 pinch

BHF MB50-63x87

BHF MB63-63x87

oo

BHFH 30x93

i& 152 —>

3.74-6.30

IHFF 50
IHRF 50

3.03-4.92
IHFF 50
IHRF 50

BHFH 30x75
«——

i

i\:
®

f«——3.15

le—1.97 ——|

EEF

x
T

2 g
@ (0™
N [T PR
- el P — o
[V ESVASH T I==
| R |t
' R bk
! | ]BBHSMO BBH 30x70 [BBHSOM%
| |
94
| |<—> 248
H H 2.36
| | 1.96
H H
| | 1.65
! ! 157
| | 1.37
| ———1.10—> ‘ - g
< .82 *)‘ ‘ _ 'y
© © © © © ©
© e e S © < ©
© = I > 3 S o N
3 3 2 & s & I > B
[ e o e = o = © 2
! . 8 Iz A §I €z §I g 8 ~E B
| |<; L1 ——
H
| ’(—L*»
' b — 7 Dia Range L L1
| | o
H | 16-24 79 .94
D IHAXF 4-6/8
ADBH 4
\ 10-16 49 83
SLEEVE D8-D16 HAXF 2.5-4/8

IHAXF 22-30/16

n Body

B Tool siide

A B) Graduated Dial

Toolholder
Locking Screw

a Expanding Pin

B Slide Locking Screw
Coolant Nozzle
) oiling Nipple

Toolholder
Locking Screw

A See pages 560-561

ISCAR



ITSB0RE USER GUIDE

Fine Boring Head Range
80 pinch Direct Diametric Adjustment

BHFI MB50-80x94 @.10-8.66

BHFI MB80-80x94 @.10-8.66 80 pinch

LLJ
o
O
m
n
=

n Body

@) Tool siide

< 1.62 —|

a Slide Locking Screw

' «©o
| BHFH 30x135 g 28 A a Graduated Dial
A T
bl|L
. i s Toolholder
| 3l Locking Screw
' © |5 O
w . .
| iy ﬁ a Expanding Pin
™= =

BHFH 30x93 Coolant Nozzle
— RI—
492 B Oiling Nipple
3.15 Toolholder
23.15 «~—1.97—> Locking Screw

S

1.42-3.78

IHFF 32
IHRF 32

el

BBH 30x40 T BBH 30x70 I BBH 30x115

BHF MB50-80x94

1.18-3.39
IHFF 25
IHRF 25

;
! 267
| 2.48
X
| 2.36
. 1.96
1.65
157
le—1.37 ———> .
«——1.10 —> - M
BHF MB80-80x94 | ‘ .
! _
o © © o © o ©
© © N T = < = N z
© = %] < i) = > N S
| ' & =) ™ o o i s R @
| 00 . [ .5 F 5 2 [2 o
| E B Sl By Be B Sy By B¢ o
X
| 83 HI 8T %I S g g HI &I
? L L1
D
| @.16-.24 .79 94
IHAXF 4-6/8
©.10-16 49 83
SLEEVE D8-D16 IHAXF 2.5-4/8

A See pages 560-561

Member IMC Group
(| I
L 4 111]




ITSB0RE USER GUIDE

Fine Boring Head Range
80 pinch Direct Diametric Adjustment

BHFI MB80-125x114 @1.42-19.69 80 pinch

L
o
O
m
n
=

< 201> n Body
|

| @) Tool siide
BHFH 40x400 . A\ B) Graduated Dial
Toolholder

Locking Screw
BHFH 40x200

©15.94-19.69
IHFF 50
IHRF 50

a Expanding Pin
a Slide Locking Screw
Coolant Nozzle

) oiting Nipple

@12.01-16.14
IHFF 50
IHRF 50

@8.07-12.20

BHFH 40x133

05.31-8.27 ‘
HFF50
IHRF 50
THFF 50
IHRF 50

BHF MB80-125x114

|
o oo
|

@1.81-5.39
IHFF 40
IHRF 40

|
‘
| BBH 40x189
BBH 40x114
BBH 40x69

@1.42-4.84
—— ™

IHFF 32
IHRF 32

A See page 561

ISCAR




ITSBCRE Fig. 1 Fig. 2 Fig. 3 LL'
~LSCMS =
IHAXF -~ LSCMS {=— OHN — -~ OHN — = m
gra;ed ;nd Ipdet)r:abil\jB i ‘4LDRED* s ~—LDRED —=| *‘ LSCMS ¢ OHN o O
oring Bars for the g | = i
Modular Boring System TocoNMiSgs \/jDCN'DCX N @ﬁlDCN—DCX DgﬁMSg’s e af]
’ DCONMSg5 K dp)
|_
DCN® DCX® LDRED OHN® LSCMS DCONMS®  Fig. KAPR® Insert CSPO) & ?
IHAXF 2.5-4/8 (1) 098 167 492 827 866 315 1, 3.0 SOLID 0
IHAXF 4- 6/8 () 157 236 787 945 945 315 1. 30 SoLD 0
IHAXF 6- 8/16 236 315 827 1.142 866 630 2. 30  WCGT0201... 1 SR14-209  T-6/5
IHAXF 6- 8/8 236 315 827 906 630 315 3. 50  WCGT0201.. 1 SR14-209  T-6/5
IHAXF 8-10/16 3115 394 1.102 1.417 .866 .630 2. 3.0 WCGT 0201... 1 SR 14-299 T-6/5
IHAXF 8-10/8 315 394 - 1,102 630 315 3. 50  WCGT0201.. 1 SR14-209  T-6/5
IHAXF 10-12/16 394 A72 1.378 1.693 .866 .630 2. 3.0 TPGX 73... 1 SR 14-298 T-8/5
IHAXF 10-12/8 394 472 - 1417 630 315 3. 50 TPGX 73... 1 SR14-208  T8/5
IHAXF 11-13/16 433 512 1575 1,890 866 630 2. 30 TPGX 73... 1 SR14-208  T-8/5
IHAXF 12-14/16 AT2 .551 1.654 1.890 .866 .630 2. 3.0 TPGX 73... 1 SR 14-298 T-8/5
IHAXF 12-14/8 AT2 .551 - 1.654 551 315 3. 3.0 TPGX 78... 1 SR 14-298 T-8/5
IHAXF 14-16/16 551 630 1,968 2.047 866 630 2. 3.0 TPGX 73... 1 SR14-208  T-8/5
IHAXF 14-16/8 .551 .630 - 1.890 551 315 8 3.0 TPGX 73... 1 SR 14-298 T-8/5
IHAXF 16-18/16 630 709 1.968 2.283 866 630 2. 30 TPGX 73... 1 SR14-208  T-8/5
IHAXF 16-18/8 630 709 - 2126 551 315 3, 30 TPGX 73... 1 SR14-208  T-8/5
IHAXF 18-22/16 .709 .866 - 2.480 .866 .630 2. 3.0 TPGX 73... 1 SR 14-298 T-8/5
IHAXF 22-30/16 866 1.181 - 2,677 866 630 2. 30 TPGX 73... 1 SR14-208  T-8/5

() Brazed tool

(2 Cutting diameter minimum

(3 Cutting diameter maximum

@ Minimum overhang

5) For DCONMS=.315", .630" O.D. sleeves should be used

(8 Tool cutting edge angle

(™ 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: TPGX (537) ® TPGX (CBN) (537)  TPGX (PCD) (537) ¢ WCGT (536)

For holders, see pages: ADBH (509)  BHD MB (484)  BHEI MB (489) » BHEI-MB-H (494)  BHFI MB-BL (495) » BHFI MB16-MB50 (497) » SLEEVE (507)

Member IMC Group
(| I
L 4 111]




PICCOACE ITS5CRE - ﬂ{i

PICCO ACE-BH pE—————
Holders with Short Shanks for T

ITS BORE System Carrying ———— |l cconws
PICCOCUT Inserts T DOONWS- P lNM

L
o
O
m
n
=

Designation DCONMS DCONWS BD OAL LB /

PICCO ACE-BH 16-4 16.00 4.00 14.50 42.50 21.50 WRENCH ACE 4-5

PICCO ACE-BH 16-5 16.00 5.00 14.50 42.50 21.50 WRENCH ACE 4-5

PICCO ACE-BH 16-6 16.00 6.00 19.90 43.50 21.50 WRENCH ACE 6-7

PICCO ACE-BH 16-7 16.00 7.00 19.90 43.50 21.50 WRENCH ACE 6-7
e Holders are suitable for right- and left-hand PICCO inserts

The PICCO-ACE-BH Holders Can Carry a Wide Range of PICCOCUT Insert Geometries

/4

= Ly
PICCO 050 PICCO 050C PICCO 051 PICCO 050 1B50 (CBN)

— -

PICCO 520 PICCO 060 PICCO MF PICCO 010 PICCO 020

ISCAR




Yy v 7V |
ITS5CRE OO 86 L]
BBH D16 Y m
Extension Slides for MB LVS O
Modular Fine Boring Holders ‘f
LPR CD
DCONMS LPR BD LS &

1
BBH D16-53 630 2.087 .984 .846 1.10
BBH D16-105 630 3.740 .984 846 1.76

For tools, see pages: I[HFF (509) e IHRF (509)

ITS50RE
SLEEVE
~— OAL—=

Reduction Sleeves for 7‘7 7 2 2

Boring Bars on the MB BCONMSaT %EWS% ‘_‘

Modular Boring System g % 7 i,

J ]
Fig.1 Fig.2

DCONMS DCONWS OAL Fig.
SLEEVE D 8-D16 630 315 906 2.

For tools, see pages: [HAXF (505)

ITS50nRE r

IHAXF-AVI ".866 —ta— OHN — r.866 OHN

Heavy Metal Vibration ] N !} 1

Damping Boring Bars DCOTMSQ5 /A % DOONMSg5[— - +T/A\/°ﬁ*é DCN-DCX

& B

o oo e oows  en & 5
IHAXF 6- 8-AVI .236 315 1.417 .630 WCGT 0201... SR 14-299 T-6/5
IHAXF 8-10-AVI 315 394 1.890 .630 WCGT 0201... SR 14-299 T-6/5
IHAXF 10-12-AVI 394 AT72 2.362 .630 TPGX 78... SR 14-298 T-8/5
IHAXF 12-14-AVI AT2 551 2.835 .630 TPGX 78... SR 14-298 T-8/5
IHAXF 14-16-AVI 551 630 3.307 .630 TPGX 78... SR 14-298 T-8/5
IHAXF 16-18-AVI .630 709 3.780 .630 TPGX 73... SR 14-298 T-8/5

* Note: Not recommended to be used on balanceable BHF-BL fine boring heads.

) Cutting diameter minimum

(2) Cutting diameter maximum

@) Minimum overhang

For inserts, see pages: TPGX (537) ® TPGX (CBN) (5637) ¢ WCGT (536)

For holders, see pages: ADBH (509) * BHD MB (484) ¢ BHEI MB (489) ® BHEI-MB-H (494) ¢ BHFI MB16-MB50 (497)

ITS50nRE Aﬁ
OHN |
IHAXF-E ‘
Carbide Vibration
Dampening Boring Bars DCONMSg5
\30
DCN) DCX® OHN® DCONMS Insert & ?
IHAXF 6- 8-E 236 315 1.772 630 WCGT 0201... SR 14-299 T-6/5
IHAXF 8-10-E 315 .394 2.362 630 WCGT 0201... SR 14-299 T-6/5
IHAXF 10-12-E .39%4 AT2 2.953 630 TPGX 78... SR 14-298 T-8/5
IHAXF 12-14-E AT2 .551 3.543 630 TPGX 78... SR 14-298 T-8/5
IHAXF 14-16-E 551 .630 4134 630 TPGX 78... SR 14-293 T-8/5
IHAXF 16-18-E 630 .709 4.724 630 TPGX 78... SR 14-298 T-8/5

¢ Note: Not recommended to be used on balanceable BHF-BL fine boring heads.
() Cutting diameter minimum
() Cutting diameter maximum
() Minimum overhang
For inserts, see pages: TPGX (537) ¢ TPGX (CBN) (537) « WCGT (536)
For holders, see pages: ADBH (509) * BHD MB (484) ¢ BHEI MB (489) » BHEI-MB-H (494) ¢ BHFI MB16-MB50 (497)
(Y [In




L
o
O
m
n
=

ITS50RE

BBH 30/40
Extension Slides for MB
Modular Fine Boring Holders

[~—Bb2—~ [=— OAW >

l«-BD—

Designation

OAW

LB

BD LPR

BD_2

BBH 30X40

BBH 30X70

BBH 30X115
BBH 40X69

BBH 40X114
BBH 40X189

1.201
1.201
1.201
1.675
1.575
1.575

1.575
2.756
4.528
2.717
4.488
7.441

.984 2.067
.984 3.248
1.063 5.020
1.260 3.386
1.260 5167
1.496 8.110

1.693
1.693
1.693
2.205
2.205
2.205

.60
.83
1.40
1.51
217
4.28

For tools, see pages: IHFF (509) * IHRF (5

09)

ITS50nRiE

BHFH
Counter Weight Slides for MB
Modular Fine Boring Holders

OAL i ‘4— OAW —=

Designation

OAW

OAL

OAH

7

BHFH 30X75
BHFH 30X93
BHFH 30X135

BHFH 40X133
BHFH 40X200
BHFH 40X300
BHFH 40X400

1.201
1.201
1.201
1.575
1.575
1.575
1.575

2.953
3.661

5.315
5.236
7.874
11.811
15.748

984 1

.984 1.20

984 1.66
1.575 3.36
1.575 5.07
1.575 7.65
1.575 10.06

SR M10X25 DIN912
SR M10X25 DIN912
SR M10X25 DIN912
SR M10X25 DIN912
SR M10X25 DIN912
SR M10X25 DIN912
SR M10X25 DIN912

For tools, see pages: IHFF (509) ¢ IHRF (509) ¢ IHRF-BW (513) o IHRF-CH (514)

ITSBGRE
BBH 63

Extension Slides for MB Modular
BHE Fine Boring Holders

= OAW |=

\orerrctowons/

l<BD-!

BD_2

LPR

BD LB

OAW

BBH 63X78

2.480

3.071

1.260

1.102

1.14

For tools, see pages: IHFF (509) ¢ IHRF (5

09)

ITSBGRE
BHEH

Slides for MB Modular BHE
Fine Boring Holders

¥

DCONWS BD
*

BD

LF

&

/

4

BHEH 24X75 945
1.102
1.102
1.102

BHEH 28X80
BHEH 28X108
BHEH 28X148

2.953
3.150
4.252
5.827

571
886
886
886

DCONWS

.630

74 SR M6X6 DIN913*
1.16
1.63

SR M5X25DIN912*

HW 4.0* HW 3.0

* Optional, to be ordered separately
For tools, see pages: I[HFF (509) ® IHRF (509)  IHRF-BW (513) ® IHRF-CH (514)

ISCAR




ITS50RE

BD_2 ~— OAW —»
ADBH F ~ ﬂ | |
Sleeve for MB Modular ) j H
Fine Boring Holders O | OAL
> T |

e ep ] J DCONWS

o oows o s

ADBH 30XD16 1.181 630 984 1.636 1.201 33

For tools, see pages: IHAXF (505) o IHAXF-AVI (507) o IHAXF-E (507)

LLJ
o
O
m
n
=

ITS50nRE
cw32 .87 67"
Counter Balancing Weight T ﬂ ‘
Used on BHEH Slide for oLl 1
Fine Boring Holders

L !ﬁr

=

[owsz 1210 B

ITSB0RE

IHFF VJF

Triangular Insert Holders J

for Mounting on MB T

Fine Boring Heads or°

OAL

Y S
IHFF 25 .394 1.043 1.102 1.575 TPGX 73... SR 14-298 T-8/5
IHFF 32 453 1.358 1.378 2.087 TPGX 78... SR 14-298 T-8/5
IHFF 40 .551 1.756 1.890 2.598 TPGX 22... SR-17979 M3X8 T-8/5
IHFF 50 .748 2.047 2.126 3.386 TPGX 22... SR-17979 M3X8 T-8/5

() Cutting diameter minimum

(2) Cutting diameter maximum

For inserts, see pages: TPGX (537) ¢ TPGX (CBN) (537)

For holders, see pages: BBH 30/40 (508) » BBH 63 (508) » BBH D16 (507)  BHD 50 L200 (510) » BHD MB (484) » BHEH (508) * BHEI MB (489) ® BHFH (508) * BHFI
L8.000 (510) ® BHFI MB16-MB50 (497)

ITS50RE

IHRF L

80° Rhombic Insert I

Holders for Mounting on ( —

MB Fine Boring Heads 90°

OAL- =

T
IHRF 16 315 .669 709 .945 CCGT 2... SR 14-548 T-7/6
IHRF 20 .335 827 .866 1.181 CCGT 2... SR 14-548 T-7/6
IHRF 25 .39%4 1.043 1.102 1.575 CCGT 2... SR 14-548 T-7/5
IHRF 32 453 1.358 1.378 2.087 CCGT 2... SR 14-548 T-7/5
IHRF 40 .551 1.732 1.890 2.598 CCGT 3... SR 16-236 T-15/5
IHRF 50 748 2.047 2.126 3.386 CCGT 3... SR 16-236 T-15/5

() Cutting diameter minimum

(@) Cutting diameter maximum

For inserts, see pages: CCET-WF (532) » CCGT-AF (534) » CCGT-AS (534) » CCGW/CCMT (CBN) (533) « CCMT (PCD) (533) ® CCMT-14 (531) » CCMT-PF
(531) » COMT-WG (532) » COMT/CCGT (532) » CCMT/CCGT-SM (531)

For holders, see pages: BBH 30/40 (508) » BBH 63 (508)  BBH D16 (507) ® BHD 50 L200 (510) » BHD MB (484)  BHEH (508) » BHEI MB (489) » BHFH
(508) » BHFI L8.000 (510) » BHFI MB16-MB50 (497)

Member IMC Group
(| I
L 4 111]




L
o
O
m
n
=

ITS50nRE
IHWF !
Trigon Insert Holders for Mounting Wiz
on MB Fine Boring Heads N B
%ﬂ

le— OAL
WF OAL DCNM DCX@ Insert
| IHWF14E | 315 551 571 709 WGGT 0201...

M) Cutting diameter minimum

(2) Cutting diameter maximum

For inserts, see pages: WCGT (536)

For holders, see pages: BHD MB (484) e BHEI MB (489)

ITS50nRE '
ADJRGR
BHD 50 L200 T DONLDCX
Digital Fine Boring Slide Head for T
TCH AL Large Diameter Holders OAL

IHFF 50
IHRF 50
IHRF 56-802BW

IHRF 50 CH45 54-800
IHRF 50 CH30 54-800
IHRF 50 CH15 54-800

Serrated Surface 7

DCN( DCX® OAL OAH ADJRGR RPMX®

BHD 50 L200 7.874 47.323 4.331 291 197 20000

3.75

() Cutting diameter minimum

(2 Cutting diameter maximum

@) Maximum RPM

For tools, see pages: IHFF (509) ¢ IHRF (509) ¢ IHRF-BW (513) ® IHRF-CH (514)

ITSB0RE ADJRGR | LF (assembly)
BHFI L8.000 T =

Fine Boring Slide Head Used on DCN-DCX

TCH AL Large Diameter Holders AL

Serrated Surface /| [="

IHRF 50 CH45 54-800
IHRF 50 CH30 54-800
IHRF 50 CH15 54-800

BHFI L8.000" 8.000 47.323 4.330 160 2.64

22

() Cutting diameter minimum
() Cutting diameter maximum
For tools, see pages: IHFF (509) e IHRF (509) ¢ IHRF-BW (513)

ITSB0RE

Cw200

Counter Balancing Weight
for TCH AL Rough and
Fine Boring Holders

1.18x2.22
Designation OAL Lbs|
4134 2.46

ISCAR




ITS50RE = onn = o L
S50 o B

TCH AL =5 D:

Aluminum Twin Cutter O

Heads for Rough and Fine v o oo hﬁ i

Boring Operations, Diameter SS% oo ) tex | CD

Range 7.87-47.24" % \ CD
|_

O
DCN®  DCX@ BD DCONMS DBC SS OAW CXT BH CSP®  RPMX4 IR

TCH AL200 7.874 23.701 7.638 1.575 2626 80 = ° 2126 1 700 7.06
TCH AL300 11.811 27.638 11.339 1.575 2.626 80 = ° 2.126 1 400 8.60
TCH AL400 15.748 31.675 16.512 1.575 2.626 80 = 1/4GAS 2.402 0 300 16.21
TCH AL500 19.685 36.612 19.449 2.362 4,000 80,110 5.039 1/4GAS 2.717 0 200 19.18
TCH AL600 23.622 39.449 23.386 2.362 4,000 80,110 5.039 1/4GAS 2.795 0 200 18.39
TCH AL700 27.559 43.386 27.323 2.362 4,000 80,110 5.039 1/4GAS 2913 0 200 18.39
TCH AL800 31.496 47.323 31.260 2.362 4.000 80,110 5.039 1/4GAS 3.150 0 150 33.52

e Aluminum body, with steel serrated seats ® The "O" position on the counterweight balances the BHF boring head for .787" boring diameter position. For every .394" change
in boring diameter, move the counterweight by 1 measurement mark e Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying
capability e For spare parts, see pages 509-510, 547

() Cutting diameter minimum

(2 Cutting diameter maximum

() 0 - Without coolant supply, 1 - With coolant supply

@) Maximum RPM

For tools, see pages: [HBR (479) ¢ IHCR (478) ® IHPR (479) ¢ IHSR (478)  IHSR-BW (480)

Spare Parts

. . o ¢ ;7 7 & 7 @

g, VAR LN BHTCHNUTA  BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 SR M12X35DIN912 SR M8X25DIN912

TCH AL300 SRM8X40DIN915  BHTCHNUTA  BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 SR M12X35DIN912 SR M8X25DIN912
TCH AL400 SRM8X40DIN915  BHTCHNUTA ~ BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 SR M12X35DIN912 E&?E Zgé-%% SR M8X40 DIN915
SR M16X50 BH SERRATED

TCH AL500 BHTCHNUTA  BHTCHNUTB  BHTCHNUTC SR M12X40DIN912 DINO12 SR M8X25DIN912 PLATE 400-700 SR M8X40 DIN915
BH SERRATED SR M16X50

TCH AL600 PLATE 400-700 SRM8X40DIN915  BHTCHNUTA ~ BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 DIN912 SR MBX25DIN912 SR M8X40 DIN915
BH SERRATED SR M16X50

TCH AL700 PLATE 400-700 SRM8X40 DIN915  BHTCHNUTA ~ BHTCHNUTB ~ BHTCHNUTC SR M12X40DIN912 DIN912 SR MBX25DIN912 SR M8X40 DIN915
BH SERRATED SR M16X50

TCH AL800 PLATE 400-700 SRM8X40DIN915 BHTCHNUTA  BHTCHNUTB  BHTCHNUTC SR M12X40DIN912 DING12 SR M8X25DIN912 SR M8X40 DIN915

Member IMC Group
(| I
L 4 111]




Large Diameter Double Edge Fine Boring Options

LLI LF_4—»
oC 7 ‘ 15° 30° 45
Q R s
| DON-DCX(3,4)
DMIN Bl DCN-DCX(3,4)
DCN-DCX
Y
y IHRF 50 CH15 54-80D | poN-pCX
TCHH EX 100/300 IHRF 56-802BW- TCHH EX 100/308 /22 IHRF 50 CH30 54-800 TCHH EX 100/300
IHRF 50 CH45 54-806—
Aluminum Twin Cutter Heads
Fine boring Extension
slide head Slides Dimensions | TCH200 | TCH300 | TCH400 | TCH500 | TCH600 | TCH700 | TCH 800
BHFI L.8/BHD50 L200 DCN-DCX 79-11.8 11.8-167 | 16.7-19.7 | 19.7-236 | 23.6-276 | 276-31.5 | 31.5-354
BHFI L8/BHD50 L200 TCHH EX 100 DCN-DCX 11.8-16.7 | 16.7-19.7 | 19.7-236 | 23.6-276 | 276-315 | 315-354 | 354-394
BHFI L8/BHD50 L200 TCHH EX 300 DCN-DCX 156.7-236 | 19.7-276 | 23.6-315 | 27.6-354 | 315-394 | 354-433 | 39.4-47.2
IHRF 56-802BW BHFI L8/BHD50 200 DCN-DCX(3,4) 8-11.9 11.9-158 | 16.8-198 | 19.8-23.7 | 23.7-276 | 276-31.6 | 31.6-35.5

IHRF 56-802BW BHFI L8/BHD50 L200 TCHH EX 100 DCN-DCX(3,4) 11.9-158 | 16.8-19.8 | 198-23.7 | 23.7-276 | 27.6-316 | 31.6-355 | 355-394

IHRF 56-802BW BHFI L8/BHD50 L200 TCHH EX 300 DCN-DCX(3,4) 15.8-237 | 19.8-27.6 | 23.7-31.6 | 27.6-355 | 31.6-39.4 | 355-434 | 39.4-47.3

=]
g
S
7

BHFI L8/BHD50 L200 LF 4.7 4.7 5.0 5.3 54 55 5.7

BHFI L8 TCHH EX 100 LF 2 5.9 5.9 6.2 6.5 6.6 6.7 6.9

BHD50 L200 TCHH EX 100 LF 2 7.0 7.0 7.2 7.6 7.6 7.8 8.0

BHFI L8 TCHH EX 300 LF_2 6.3 6.3 6.6 6.9 7.0 sl 7.3

BHD50 L200 TCHH EX 300 LF 2 74 74 7.6 8.0 8.0 8.2 8.4

IHRF 56-802BW BHFI L8 LF_3 41 4.1 4.3 4.6 47 4.8 5.1
IHRF 56-802BW BHD50 L200 LF 3 5.1 5.1 5.4 5.7 58 59 6.1
IHRF 56-802BW BHFI L8 TCHH EX 100 LF_4 5.2 5.2 5.5 5.8 5.9 6.0 6.3
IHRF 56-802BW BHD50 L200 TCHH EX 100 LF_4 6.3 6.3 6.6 6.9 7.0 7.1 7.3
IHRF 56-802BW BHFI L8 TCHH EX 300 LF_ 4 5.6 5.6 5.9 6.2 6.3 6.4 6.7
IHRF 56-802BW BHD50 L200 TCHH EX 300 LF_4 6.7 6.7 7.0 7.3 7.4 7.5 7.7

ISCAR




ITS50RE

TCHH EX
Boring Tools Extension Slides
for TCH AL Boring Heads

OAL i

0 B8 10

LLJ
o
O
m
n
=

OAH OAW OAL &

TCHH EX100 1.220 1.398 6.102 3.30
TCHH EX300 1.614 1.398 10.039 6.17

For tools, see pages: IHBR (479)  IHCR (478) o IHPR (479) * IHSR (478) * IHSR-BW (480)

ITS50RE -~
DN | DMN =
IHRF-BW . BHF16-50 BD BHF63-125’ BD TCH AL200-800
Back Face Turning Toolholders e ‘ Y BHEH L0 =5 em
for BHF and TCH AL - 2 7 lZF IHRF...BW 7 A LJ: IHRF...BW
f i + T 1
Fine Boring Heads é‘Lt "0 hwr Lo tue
o [LOAL o OAL
DCN-DCX] ~DCN-DCX
SS DCN DCX BD LF WF OAL Insert
IHRF 20-25BW BHFI MB16-16X34 .79 .98 63 1.08 .31 Nal CCMT 2.,
IHRF 24.5-32BW BHFI MB20-20X40 1.00 1.26 79 1.32 33 89 CCMT 2..
IHRF 31.5-41.5BW BHFI MB25-25X50 1.24 1.63 98 1.63 37 1.12 CCMT 2..
IHRF 38.5-51.5BW BHFI MB32-32X63 1.52 2.03 1.26 2.09 43 1.40 CCMT 2..
IHRF 50.5-65BW BHFI40-40 1.99 256 1.57 2.68 53 1.81 CCMT 8..
BHFI50-50 2.20 3.42 1.97 2.44 69 2.09
BHFI63+BHFH30X75 3.23 4,01 2.95 2.76 69 2.09
BHFIB0+BHFH30X93 3.94 559 3.66 3.13 69 2.09
BHFI25+BHFH40X133 551 8.35 531 3.86 69 2.09
TCH AL200+BHFI L8.000 795 11.89 7.80 4.06 69 2.09
IHRF 56-802BW TCH AL300+BHFI L8.000 11.89 15.83 11.73 4,06 69 2.09 CCMT 3..
TCH AL400+BHFI L8.000 15.83 19.76 15.67 4,06 69 2.09
TCH AL500+BHFI L8.000 19.76 2370 19.45 4.25 69 2.09
TCH AL600+BHFI L8.000 23.70 27.64 23.39 4.25 69 2.09
TCH AL700+BHFI L8.000 27.64 3157 27.32 4.25 69 2.09
TCH AL800+BHFI L8.000 31.57 35,51 31.25 5.07 69 2.09

e DMIM=(min bore diameter)=(DCN+BD+1)/2 e BD=Size of the boring head being used

() Cutting diameter minimum

(2) Cutting diameter maximum

For inserts, see pages: CCGT-AS (534) ¢ CCGW/CCMT (CBN) (533)  CCMT (PCD) (533) » CCMT-14 (531) « CCMT-PF (531) « COCMT-WG (532)

e CCMT/CCGT (532) ® CCMT/CCGT-SM (531)

For holders, see pages: BHD 50 L200 (510) « BHD MB (484) « BHEH (508)  BHEI MB (489) » BHFH (508) e BHFI L8.000 (510) » BHFI MB16-MB50 (497)

Spare Parts

& >
CiArrBw

SR 16-236 T-15/5

Member IMC Group
(| I
L 4 111]




ITS50RE - WF [‘

Lo & LFA
AN |HRF-CH - -
O Chamfering Tools for e } P
BHF Boring Heads
m JHL ,,,,, || 7 e LFOAL DCN-DCX
HOM
)] e J
=

DCN( DCX® LF OAL WF LFA PSIRR Insert

IHRF 16 CH20 18-23 .709 .906 .701 787 433 087 20.0 CCGT 2...
IHRF 16 CH30 18-23 .709 906 661 787 354 126 30.0 CCGT 2...
IHRF 16 CH45 18-23 .709 .906 612 791 374 181 45.0 CCGT 2...
IHRF 16 CH60 18-23 .709 906 571 787 374 220 60.0 CCGT 2...
IHRF 20 CH15 22-29 .866 1.142 878 945 433 067 16.0 CCGT 2...
IHRF 20 CH20 22-29* .866 1.142 854 945 433 087 20.0 CCGT 2...
IHRF 20 CH30 22-29 866 1.142 819 945 354 126 30.0 CCGT 2...
IHRF 25 CH15 28-38 1.102 1.496 945 1.012 409 067 156.0 CCGT 2...
IHRF 25 CH30 28-38 1.102 1.496 .890 1.008 409 126 30.0 CCGT 2...
IHRF 25 CH45 28-38 1.102 1.496 843 1.020 409 A78 45.0 CCGT 2...
IHRF 32 CH15 35-53 1.378 2.087 1.260 1.327 496 067 156.0 CCGT 2...
IHRF 32 CH30 35-53 1.378 2.087 1.201 1.327 476 126 30.0 CCGT 2...
IHRF 32 CH45 36-50 1.417 1.968 1.150 1.327 476 181 45.0 CCGT 2...
IHRF 32 CH60 36-50 1.417 1.968 1.154 1.370 472 220 60.0 CCGT 2...
IHRF 40 CH60 48-63 1.890 2.480 1.539 1.870 650 331 60.0 CCGT 3...
IHRF 40 CH15 48-66 1.890 2.598 1.768 1.866 689 098 15.0 CCGT 3...
IHRF 40 CH30 48-66 1.890 2.598 1.504 1.689 567 185 30.0 CCGT 3...
IHRF 40 CH45 48-66 1.890 2.598 1.433 1.693 567 264 45.0 CCGT 3...
IHRF 50 CH15 54-800 2.126 31.496 1.894 1.992 748 .098 15.0 CCGT 3...
IHRF 50 CH20 54-800 2.126 31.496 2.055 2185 709 130 20.0 CCGT 3...
IHRF 50 CH30 54-800 2.126 31.496 1.967 2.000 748 185 30.0 CCGT 3...
IHRF 50 CH45 54-800 2.126 31.496 1.732 1.992 748 264 45.0 CCGT 3...
IHRF 50 CH60 54-800 2126 31.496 1.854 2.185 650 331 60.0 CCGT 3...

() Cutting diameter minimum

(2 Cutting diameter maximum

For inserts, see pages: COGT-AS (534) » CCGW/CCMT (CBN) (533)  CCMT (PCD) (533) » CCMT-14 (531) ® CCMT-PF (531) » CCMT-WG (532)
o COMT/CCGT (532) » CCMT/CCGT-SM (531)

For holders, see pages: BHD 50 L200 (510) ¢ BHD MB (484) e BHEH (508) ® BHEI MB (489) ® BHFH (508) * BHFI MB16-MB50 (497)

ISCAR




ITS50RE el LU
o Y| s
KIT BHD-MB
Digital Display Fine Boring T _ O
Head and Various Boring DCN-DCX
Tools and Inserts DOONMS CD
DCN® DCONMS DCX® —
KIT BHD MB50-50 6-110 236 1.968 4.331
KIT BHD MB63-63 6-125 236 2.480 4.921
KIT BHD MB80-80 6-200 236 3.150 7.874
() Cutting diameter minimum
(2 Cutting diameter maximum
Boring Kit BHD MB50-50 6-110 Metric/inch (2.2362-4.330")
Fine Boring Head with .0001" Direct Diametric Adjustment Resolution and a Built-in Digital Display
r 80 pinch Tools Inserts
BHD MB50-50 6-110 2 WCGT 020102L
IHFF 25 5 TPGX 730-L
IHFF 32 1 TPGX 220-L

IHFF 50

IHAXF 6-8/16

IHAXF 8-10/16

IHAXF 16-18/16

IHAXF 22-30/16

BBH D16-53

BHEH 24x75

BH NUT 10

1
1
1
1
1
1
1 IHAXF 11-13/16
1
1
1
1
1
1

CW 32

Designation MB d1 Boring Range
KIT BHD MB50-50 6-110 1.968 .2362-4.330
3.2362-1.181 31.102-2.125 32.125-3.307

BATTERY|

@ ]

1
A

N
™
=4
Zzd®
CcC T
=
<]

—

IHAXF 22-30/16

3.661

BHEH 24x75

IHFF 50

. 2.480
ﬁf\i?@ig)ﬁg IHFF 50 BHEH 24x75
3149-.4724 1.968 @2.125-3.307 IHFF 50
IHAXF 8-10/16 A 2677 A A
2.4330-.6692 — @1.102-1.653
[HAXF 11-13/16 A IHFF 25 @3.149-4.251
0.6299-.9055 ! .
IHAXF 16-18/16 ! 014172125
0.8661-1.181 A

@3.622-4.330

Member IMC Group

T [Tall 515



L
o
O
m
n
=

ITS50RE

Boring Kit BHD MB63-63 6-125 Metric/inch (.2362-4.92")
Fine Boring Head with .0001" Direct Diametric Adjustment Resolution and a Built-in Digital Display

USER GUIDE

80 pinch

F

Tools

Inserts

BHD MB63-63 6-125

2 WCGT 020102L

BBH 63X78

5 TPGX 730-L

BHEH 28X80

1 TPGX 220-L

BBH 16-53

CW32

IHAXF 6- 8/16

IHAXF 8-10/16

IHAXF 11-13/16

IHAXF 16-18/16

IHAXF 22-30/16

IHFF 25

IHFF 32

Sy [Ny Iy Iy Y Y Y Iy Yy g g pry

IHFF 50

Designation
KIT BHD MB63-63 6-125

MB di

Boring Range

2.480

.2362-4.921

0.2362-1.181

01.102-2.204

01.574-2.913

02.834-4.055

'

3.582 3.582 i
@ ) 1
® @ y
BBH 63X78

BHEH 28X80\ Q T
©.2362-.3149 2.480 3.051 02.834-4.055
e R .
IHAXF 6-8/16 1.574 IHFF 50

PR D
0.3149-4724 1.968 A o 3.326
IHAXF 8-10/16 A 2362 = — A
0.4330-6692 4 BBH D16-53] m#»\
IHAXF 11-13/16
0.6299-.9055 21.102-1.762 o
IHAXF 16-18/16 |-;\

01.417-2.204 £\ A

0.8611-1.181 TErmy e 02.125-2.913
IHAXF 22-30/16 IHFF 50

23.385-4.921

4.33

CW32

BHEH 28X80

03.385-4.921
IHFF 50

ISCAR




ITS50nRE USER GUIDE

Boring Kit BHD MB80-80 6-200 Metric/inch (8.2362-7.874")
Fine Boring Head with .0001" Direct Diametric Adjustment Resolution and a Built-in Digital Display

r 80 pinch Tools Inserts

LLJ
o
O
m
n
=

1__BHD MB80-80 6-200 2 WCGT 020102L
1 BBH D16-53 5 TPGX730-L

1 BBH 63X78 1 TPGX 220-L

1 BHEH 28X108
1 BHEH 28X148
1 Cwa32

1 IHAXF 6- 8/16
1 IHAXF 8-10/16
1

1

1

1

1

1

IHAXF 11-13/16
IHAXF 16-18/16
IHAXF 22-30/16
IHFF 25
IHFF 32
IHFF 50

Boring Range
.2362-7.874

3.346-4.566 04.527-7.874

4.94

)i T2\

: 433 - ]
i e | 1 A 1
2.480 3.05 | 03.346-4.566 cwa2 ‘

I

BHEH 28X108 ﬁBZ?

v A
0.2362-3149 5 1.1
HAXF68/16 41567 $ # 3SE|FF 50 04.527-6.099
©.3149-4724 1.97 A Y \ : BHEH 28X108 (36.102-7.874

26.102-7.8
IHAXF 8-10/16 5 36BBH D16-53 ?1.574-2.204 BHEH 28X148
0.4330-6692 4 ‘ IHFF 32
IHAXF 11-13/16 21.102-1.732, N
IHFF 25 | B

0.6299-9055 01.417-2.204 o2 1053 A
IHAXE 16-18/16 HFF 32 - Teer

0.8661-1.181 —
IHAXF 22-30/16

Member IMC Group
(| I
L 4 111]




Wl /ITsscR:

A®N KiTI BHEI MB 5 s

O Contains a Fine Boring 8 g4 B @ @

Head and Various Boring DCONMS 8sg 3 DZ@ 1@

MBNY Tooiholders and Inserts o8 = IHFF (©)

N IHAXF

|_

- DCONMS DCN® DCX® RPMX@
KITI BHEI MB32-32-53 H (1) 32.000 .098 AT2 10000
KITI BHEI MB50-50-60 H (1) 50.000 236 866 8000
KITI BHEI MB50-50-80 50.000 236 4.331 8000
KITI BHEI MB63-63-89 63.000 236 4.921 6000
KITI BHEI MB80-80-104 80.000 236 7.874 5000

* For kit contents and boring options, see following pages e 400 pinch direct diametric adjustment and 80 pinch by a Vemnier scale.
) Balanced to G2.5/12,000 RPM

(@ Cutting diameter minimum

() Cutting diameter maximum

@) Maximum RPM

Boring Kit BHEI MB32-32-53 H (2.098-.472")
Fine Boring Head 10 mm Direct Diametric Adjustment and 80 pinch by a Vernier Scale

r 438 ::::: Boring Tools Inserts
1 BHEI MB32-32-53 H 5 TPGX 090202L
1 IHAXF 2.5-4/8 2 WCGT 020102L
1 IHAXF 4-6/8
1 IHAXF 6-8/8
1 IHAXF 8-10/8

1 IHAXF 10-12/8

MB Boring Range

32 .098-.472

2.087
1.417

1.102

.827

N )

o © 3
~YF ol w|© |5 o
Ll Qo 5% 2] Sl
;| N o |0 N
QL N~ QL oL < (L
3z 2|2 NE: I RIEd
S - 12 ® 2]
Q| [S]E= QL QL [S]E=

ISCAR




ITS50RE USER GUIDE

Boring KITI BHEI MB50-50-60 H (2.236-.866")
Fine Boring Head 400 pinch Direct Diametric Adjustment and 80 pinch by a Vernier Scale

1400 pinch .
"f 80 pinch Boring Tools Inserts

LLJ
o
O
m
n
=

BHEI MB50-50-60 H 5 TPGX 090202L

IHAXF 6-8/16 2 WCGT 020102L
IHAXF 8-10/16

IHAXF 10-12/16
IHAXF 12-14/16
IHAXF 14-16/16
IHAXF 16-18/16
IHAXF 18-22/16

Designation MB Boring Range
KITI BHEI MB50-50-60 H 50 .236-.866

400 pinch direct diametric adjustment and 80 pinch by a Vernier scale

JEIY ('Y Y (Y (Y Y Y (Y

o Q
© o
e 8 g
o o
o
)
s ©
) ]
[
©
@
[
©
@«

378

o T
»J 1.102
’FS 1
»!
@
@
=
@
-
@
-
@
>

]

.
3 058
() oS oo
— tc
5 018 © e e e 2 e
e g S g S o S
°% 32 ¥r zn 81 8. 89
B 85 Yo Bd @i Ré I
© o} < 1 — =) )
(')LL ‘_U_ 07“_ ’\U_ mLL mu_ OLL
92 5z 8% S 8z 8z S
QL QL QL QL QL QL QL

Member IMC Group

T [Tall 519



ITSB0RE USER GUIDE

Boring Kit BHEI MB50-50-80 (2.236-4.331")
Fine Boring Head 400 pinch Direct Diametric Adjustment and 80 pinch by a Vernier Scale

1400 pinch .
r 80 pincH Boring Tools

L
o
O
m
n
=

1 BHEI MB50-50-80
1 IHFF 25

1 IHFF 32

1 IHFF 50

1 IHAXF 6-8/16

1 IHAXF 8-10/16
1 IHAXF 11-13/16
1
1
1
1
1
1

IHAXF 16-18/16
IHAXF 22-30/16
BBH D16x53
BHEH 24x75
BH NUT 10

CW 32

Designation MBd1 Boring Range
KITI BHEI MB50-50-80 50 .236-4.331

400 pinch direct diametric adjustment and 80 pinch by a Vernier scale

2.236-1.181 21.102-2.205 02.126-3.386 23.150-4.331 03.622-4.331

oo BH
—| | NUTT0
y BBH 3
s D16x53 <
IHAXF 6-8/16 o 1228 N HFFS0 | BHEH 24x75 |
9.315-.394 25 A oy 021263386 IHFF 50 BHEH 24x75
IHAXF 8-10/16 A o
@1.102-1.732

0.433-512 ! 01.102-1.732,|
IHAXF 11-13/16 ‘ IHFF 25 23.150-4.331 IHFF 50
@.630-.709 A ' ‘
IHAXF 16-18/16 | 014172205 |

, \ IHFF 32 ©3.622-4.331
©.866-1.181 \

IHAXF 22-30/16

S8 ISCAR




3d0d Sl

(T [Tall 521

g
w H
)]
-
S
]
[
[75) =)
©
-} SIS
x|
o'
€ |©
HE
J 860°G-907 €0
@ m
2 Mg ¢08-95 34Hi
L 825775820
= M& 208-95 3dH 08%8g HaHg
£
P =——1
o
m 3
o
AT . -
o . . 000G-892 €0
3 9 3 94/06-c8 IXVHI el ieorio €16'392H20 6P V-L1220 T8 11060 51=P
; ©|wolo < 8 181'1-998'0
] O|e|—| = v 292 702520 oS F=D YO V-E1620 08=P
o o555 |olx ; 91/22-81 d4XVHI G2 JHi - - = : :
& ©I3|%| 7| || B 9 @‘@ww..mo 70 e ¥60'7-298'20 J0E=P 88V 7-95.20 oSv=0
W alo @ M had P M & 5 M 91/81-91 XVHI o I 186'6-G02 20 oSr="P 3006 3aHI
602 -089'0
= H H M LiL|L|w o AWn S - ) 9197l uHI 3 S0r-9ra Hag 05 HI HO 05 3aHI 08X82 HaHg
% [THITHITH M M M M % % T W T 1 0€9-165°0 ~ H3HSYM HE |
I|IT|T|T|T|T|T o R v 2
O|=|=|=|=|=|=|=|0|0n0| (@ (8| |© 9L/PL-gL 4XVHI <
[l [ | | | = A 1S5 2V D TG T 05 38Rl g ¥
5 5 o m 9L/EL-LL IXVHI . . = 0G 43Hi |
£ £ =|do v slG-esro ceLeorio 1267-98' €0
g8 w g o 91/2L-0b IXVHI e G02'2-S.S 10
4 22 S 05 JaHi
& 8. S 2Lr-v68'0 188'7-G88°20
) -8 H 91/01-8 dXVHI 0S 44HI
i = Y6EGIE 0 05 44HI
2 91/8-9 AXVHI 08x8¢ HaHg
@ €5-9+a Hag
f 08%8z HaHg

4,381
t
@0
L]

1=
o
P
©
D
©
7]
=
i
I
o
=
X

Designation

Fine Boring Head 400 pinch Direct Diametric Adjustment and 80 pinch by a Vernier Scale

Boring Kit BHEI MB63-63-89 (2.236-5.098")

ITS50nRE




L
o
O
m
n
=

522

ITS50RE

Boring Kit BHEI MB80-80-104 (2.236-7.874")
Fine Boring Head 400 pinch Direct Diametric Adjustment and 80 pinch by a Vernier Scale

USER GUIDE

1400 pinch
80 pinch

F

Boring Tools

1 BHEI MB80-80-104
1 IHFF 32
1 IHFF 50
- 1 IHFF 6-8/16
'i‘ 1 IHAXF 8-10/16
. 1 IHAXF 11-13/16
- 1 IHAXF 16-18/16
‘ o8 1 IHAXF 22-30/16
1 BBH 63x78
1 BHEH 28x80
1 BHEH 28x108
1 BHEH 28x148
1 BH WASHER IH..50
1 Cw 32
Designation MB d1 Boring Range
KITI BHEI MB80-80-104 80 .236-7.874
M) The specified boring range differs from the one specified for the boring bar. The extra range is not recommended for high rotational speeds.
2.236-1.181 J1.575-3.543 23.465-5.197 04.528-7.874
BHEI 80 BHEI 80 BHEI 80 BHEI 80
0 .236-7.871 0 .236-4.921 © %236-4.921 %52;6-4.921
3 o P 3 =
H®© o v': jr(O Lock @ fons 4.004 [
< 4.941
[ ®
[ ol | ¥ T e [ ® ]
BHEH 28x80 JN;—*T Lo ) TP LI AL
236-315 1 8 B9 © 34655197
. . | - o R R
e soifg | sor
310, S
FHAXF 8-10716 s [ A, Cw 32
.433-.512 | BHH 63x78 SFTP 50
FAXE 15716 A —_— 4,528-6.299 BHEH 28108
630-.709 | 1.575-2.205
IH‘AXF 1'6-18/16 HFF 32 6.102-7.874 BHEH 28x148
A 2.126-3.543
.866-1.181 | IHFF 50

IHAXF 22-30/16

ISCAR




ITS50RE
KITI BHFI MB-BL —
Contains a Balanceable Fine T o
Boring Head and Various DCONMS

Boring Bars and Inserts 3

@

IHAXF

LLJ
o
O
m
n
=

DCONMS DCN() DCX® RPMX®)

KITI BHFI MB50-32 BL 50.000 100 470 8000
50000 240 870 8000
() Cutting diameter minimum

(2) Cutting diameter maximum
@) Maximum RPM

Boring Kit BHFI MB50-32 BL (.10-.47")
with BHFI Fine Boring Balanceable Head

80 pinch Boring Tools

1 BHFI MB50-32 BL
1 IHAXF 2.5-4/8

1 IHAXF 4-6/8

1 IHAXF 6-8/8

1 IHAXF 8-10/8

1 IHAXF 10-12/8

5 TPGX 730-L...

2 WCGT 020102L...

Designation MB d1 Boring Range
BHFI MB50-32 BL 50 .10-.47

() The specified boring range differs from the one specified for the boring bar. The extra range is not recommended for high rotational speeds.

@50
 c—)

p108 2408 2708 3008 3300

00008 236

N N|
0¥ Q
. g
10-.16 O
IHAXF 2.5-4/8 - 2
16-.24 =
IHAXF 4-6/8 a gy
24-.31 Ay =
Y
IHAXF 6-8/8 @
31-.39 ‘ -
|
IHAXF 8-10/8 a
.39-.47 )
IHAXF 10-12/8

Member IMC Group

(T [Tall 523



ITS50RE

USER GUIDE

Boring Kit BHFI MB50-50 BL (.24-.87")
with BHFI BL Fine Boring Balanceable Head

80 pinch Tools Inserts
1 BHFI MB50-50 BL 5 TPGX 090202L
1 IHAXF 6-8/16 2 WCGT 020102L
1 IHAXF 8-10/16
1 IHAXF 10-12/16
1 IHAXF 12-14/16
1 IHAXF 14-16/16
1 IHAXF 16-18/16
1 IHAXF 18-22/16
Designation MB d1 Boring Range
KITI BHFI MB50-50 BL 50 24-.87
(1 On BHFI BL max. balanceable dia. is .787".
<~ ©1.969 —>
[0, Ell9i0..,
TTITTTTTTTTTTTI
0 v
© i .00008
9 2.70
—er
L |
.31
[e2)
| O
.24-.31 % o
IHAXF 6-8/16 _ |
.31-.39 g
IHAXF 8-10/16 N
Q 5
.39-.47 N rc_%
IHAXF 10-12/16 d o
47-.55 ‘ N
HAXF 12-14/16 @
.55-.63 :
IHAXF 14-16/16
63-.71 ‘A
IHAXF 16-18/16
O\
71-.870
IHAXF 18-22/16 ‘

28 ISCAR




ITS50nRE TS

KITI BHFI-MB

Contains a Fine Boring Head, O
Adapters, Extensions and REONIS
Various Boring Bars and Inserts ¢ CD
DCONMS DCN DCX@ RPMX® —
KITI BHFI MB50-50 6-108 50.000 236 4.250 8000
KITI BHFI MB50-63 50.000 240 4.920 8000
KITI BHFI MB50-80 50.000 240 8.660 8000
KITI BHFI MB63-63 63.000 240 4,920 6000
KITI BHFI MB80-80 80.000 240 8.660 5000
() Cutting diameter minimum
(2 Cutting diameter maximum
@) Maximum RPM
Boring Kit BHFI MB50-50 6-108 (.236-4.25")
with Fine Boring Head 400 pinch Direct Diametric Adjustment and 80 pinch by a Vernier Scale
r 80 pinch Tools Inserts
1 BHFI MB50-50 6-108 2 WCGT 020102L
1 IHFF 25 5 TPGX 730-L
1 IHFF 32 1 TPGX 220-L
1 IHFF 50
1 IHAXF 6-8/16
1 IHAXF 8-10/16
1 IHAXF 11-13/16
1 IHAXF 16-18/16
BBH X53 BH NUT 10 1 IHAXF 22-30/16
1 BBH D16x53
D= G 1 BHEH 24x75
1 BH NUT 10
1CW 32
Designation MB Boring Range
KITI BHFI MB50-50 50 .236-4.25
0.236-1.181 01.102-2.126 02.126-3.307 03.150-4.252 03.622-4.252

1 oY f
BH (k=
g | LE o
ol 10 OCl :
fes]
| S
ER 2 |
e\ ™
2.236-.315 8 KN
IHAXF 6-8/16 g ! o HFF50 | BHEH 24x75 |
0.315-.394 25 TR Al 021263307 IHFF 50 BHEH 24x75 |
IHAXF 8-10/16 -
0.433-.660 A " 01.102-1.654
HAXF 11-13716 ‘ HFF 25 084504252 HEF 50
0.630-.900 Ay !
IHAXF 16-18/16 1 01.417-2.126 |
i se 03.622-4.252
2.866-1.181 A‘; 036224252

[HAXF 22-30/16

Member IMC Group

(T [Tall 525



LL
oC
O
0
)
=

ITS50nRE

Boring Kit BHFI MB50-63/ Boring Kit BHFI MB63-63 (.24-4.92")

USER GUIDE

F

80 inch

Tools

Inserts

BHFI MB...-63x87

5 TPGX 090202L

IHAXF 6-8/16

1 TPGX 110302L

IHAXF 8-10/16

2 WCGT 020102L

IHAXF 11-13/16
IHAXF 16-18/16
IHAXF 22-30/16
ADBH 30xD16
BBH 30x40
BBH 30x70
BHFH 30x75
IHFF 25

IHFF 32

IHFF 50

Alalalalalalalalalalalala

Boring Range
.24-4.92
.24-4.92

Designation MB d1
KITI BHFI MB50-63 1.97
KITI BHFI MB63-63 2.48

() The specified boring range differs from the one specified for the boring bar. The extra range is not recommended for high rotational speeds.

21.10-3.15

: S o
< g >
& @ 3
T T T
@ il T 3.03-4.92
O oy g7 " N @ IHFF 50
24-, = -
IHAXF 6-8/16 9 S
&\ o
31-.39 — |d 2 7
IHAXF 8-10/16 3 &
g e :
43-.66 1.10-2.76
IHAXF 11-13/16 g IHFF 25
@ . IHRF 25
.63-.90
SO AP 1O E— 1.42-3.15
- ——>|
IHAXF 16-18/16 @ i
v IHRF 32

.87-1.18
IHAXF 22-30/16

sr ISCAR




ITS50nRE

Boring Kit BHFI MB50-80 / Boring Kit BHFI MB80-80 (2.24-8.66")

USER GUIDE

80 yinch Tools

Inserts

BHFI MB..-80x94

5 TPGX 090202L

IHAXF 6-8/16

1 TPGX 110302L

IHAXF 8-10/16

2 WCGT 020102L

L
o
O
M
n
=

IHAXF 11-13/16
IHAXF 16-18/16
IHAXF 22-30/16
ADBH 30xD16
BBH 30x40
BBH 30x70
BBH 30x115
BHFH 30x93
BHFH 30x135
